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UGC NET PAPER 2 NOVEMBER 24, 2021 SHIFT 2 LIBRARY & INFORMATION SCIENCE QUESTION PAPER

Topic:- LIS_SHAAN_NOVZ1A

1) According to Copyright (Amendment) Act, 2012, in case of Photographs, the term of copyright is revised to

gferfereniteer: (donea) aftiforma, 2012 & dggar BICkHEE © AL d Yiifereni2rer: aall o denfira fswn srn 2 -

[Question ID = 1][Question Description = $2_qSNz_PG_LI5_Q01]
1. 10 years/ 10 o [Option ID = 1]

2. 20 years/Z20 od [Option ID = 2]

3. Omitted /el frer srm [Option ID = 3]

4, 60 years/60 o [Optwn ID = 4]

Eorrect ﬁmswer -

e 10 years/10 = [Option ID = 1]

2) According to the UGCC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher Educational Institutions)
Regulation, 2018, if any person suspects plagiarism in any document, who should s/he report it to?

7 51t #H (srpehinr araferer Fatla Jiz soa Ben dAveamil # mizea dikd 6 Jwenn) formrer, 2018 @ sppar afs fesl =aftr @1 Rpsdt
Zraa 7 Afgea 9l o1 Age & o o o) Brorm oen / okl ?

[Question ID = 2][Question Description = $2_qSNz_PG_LIS_Q02]

1. [AIP { Institutional Academic Integrity Panel )/ardvandd (Sraserm sreehies seafasr Gem) [Option 1D = 5]
2. DAIP ( Departmental Academic Integrity Panel )/SeaEt JFueia socikie aroral tarer) [Option 1D = 6]
3. HHEI ( Head of the Higher Education Institution )/versEaE (3w Bian sizemst @ gEr) [Option ID = 7]

4. UGC { Unwemty Grants Commission }I{@ﬁ:&ﬂ {mwm} [Optmn D= 8]

Correct Answer :-
e |AIP { Institutional Academic Integrity Panel }/amdmsrdtlt (Heenser sromine artemar ey [Option 1D = 5]

3) Under the RTI Act, 2005, which person cannot submit a complaint to the Central Information Commission or State
Information Commission, as the case may be?

Fraar @ sty aftiferms, 2005 @ sineia Breafefaa & A oia W «fts Daa Faar smist ar s Faar ArNe1, St Bl 8, & aag
torprRm gl sidt @ s ?

[Question ID = 3][Question Description = 52_qSNz_PG_LIS_Q03]
1. Who has been refused access to any information related under this act. /fm s sfiformm 9 sl Kol 2erT JEmen ool 31 el &2 [ o= &

[Option ID = 9]

2. Who has been required to pay an amount of fee which s/he considers unreasonable. /B o &t 2t o spprnsr am s B srn 2 Bied us avnisos
wad 2/ wodt &
[Option ID = 10]

3. Who approaches directly to CIS or SIC without approaching CPIO or SPIO as the case may be. /& Zirftard:h =r eondtansan, Sl oft Bafor 2, & T zenforr R
fren it wm vt 31 A A wwt 3

[Option ID = 11]
4. Who believes that s/he has been given incomplete, misleading or false information under this Act. /az wRe S A 2 / #erd 2 fos 392 angef, speres ar
SIET T 8f 78 &

[Dptmn ID = 12]

Eorrect ﬁmswer -
o ‘Who has been refused access to any information related under this act, /faed sa sfifors o siel Bl 2ewr 2wmen 29 3 #er @2 e sren 2

[Optien 1D = 9]

4) "Edanz”, a journal suggester service is associated with which leading publisher?

'T3od v uferpr JEm an, forefiiRan # A Kow aepef goorens A €@ 8 7

[Question ID = 4][Question Description = 52_qSNz_PG_LIS_Q04]
Elsevier/weaiffrre [Option ID = 13]

Sage/3= [Option ID = 14]

Springer/Bger [Option 1D = 15]

Wiley/assr [Option D = 18]
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Correct Answer :-
e Elsevier/weaifrr [Option ID = 13]

5) In UNESCO's conceptual model of Media Information Literacy (MIL), 2013, which one of the following circle represents:

"The information resources and the means by which infermation is communicated...”

Forzepl I thfzen Iaen FgIFal & SaURUIRA® Yfeane , 2013 3 fossifatiaa 3 3 @i -3 Twd 53 yoiz ot ozar 8 1 7d el
HAEGT 7L HerE BokRd FR IJT O AR eRl & ....... "

[Question ID = 5][Question Description = S2_qSNz_PG_LIS_Q05]
1. Centre drcle/3ez =T [Option D = 17]

2. The 5econd Circle from the Centre/wg 3 g aede [Option 1D = 18]

3. The Third Gircle from the Centre/og 3 e wad [Option 1D = 19]

4, The Final Circle/afe amb [Dptmn 10 = ID]

Cnrrect A.nswer -
& Centre circle/3kz mda [Option D = 17]

6) Which one of the following digital collections is not provided by the Library of Congress?

forgmteiliaa A 2 fepw Rfsiea sz @I asgil siip SisE Frr gyea ol fopen s 2 ?

[Question ID = 6][Question Description = $2_qSNz_PG_LIS_Q06]
. Chronicling America/Siferrieir agtye [Option (D = 21]
Treasures in Full /et 3o me [Option 1D = 22]

Sterecgraph Cards/Z8REiE wrg=t [Option 1D = 23]
Civil War Glass Negatwes and Related Prints/fHhfe o= = Brikes oz s W [Optmn D = 24]

s o

Eorrect ﬁmswer -
# Chronicling America/mifermiter smism [Option (D = 21]

7) Which one of the following acts as a Nodal Agency for 'National Mission on Libraries' (NML) for administrative, logistics,
planning and budgeting purposes?

forraifertianT 3 2t i1 "gonafores, e dq, RS iz a=cl YRSl &g AR graoiad fiere (w6 oa ud) & i oisda weih & 5u 3
wri e & ?

[Question ID = 7][Question Description = 52_qSNz_PG_LIS_Q07]
1. Natienal Library of India /s s geamem

[Option ID = 25]
2. Delhi Public Library/ el oftms asdd

[Option 1D = 28]
3. RRRLF/3m= 3z A vaa v

[Option ID = 27)
4, NISCAIR /o o vy 3 v o ane

[Optien ID = EB]

Curre-::t A.nswer -
# Naticnal Library of India/ s s gowoesr
[Option ID = 25]

8) According to UNESCO, what is the slogan for the World Book and Copyright Day 2020 observed globally?

ol B IGAR fira graw sfiv gifreniirer Raw, 2020 s g3 fira 3 s#omn sk, @1 ¢RI aRn & ?

[Question ID = B][Question Description = S2_qSNz_PG_LIS_Q08]

1. Impraove the Reading Habit/use &5t amea 3 e @ [Option 1D = 29]

2. Books : A Window into the World during COVID-19/g=w : wifds - 19 o Siam Fra o S3m @ s@i=n [Option 1D = 30]
3. Books are for Use/gznds s o5 B 2 [Option ID = 31]

4. Globalisation of Readmg Material dunng COVID- 19/ - 19 o5 Siam uoa '&Wﬁ o Epeltaraor [Dptmn 0= 32]

Eurrect hnswer -
. Imprwe the Readmg Habit/ gosar &t snm-ra‘a‘gmz Lees3 [Dptmn 1D = 29]

9) Who devised the "Role Based Model of Digital Reference" ?
"f2forea Yo & yfiieT anenfra wsa” & giias @ia E 7

[Question ID = 9][Question Description = $2_qSNz_PG_LIS_Q09]
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. R. D. Lankers /a2t &= [Option ID = 33]

1

2. J. M. Wasik/a. oa arfaes [Option (D = 34]

3. M McClennen/en. fiestos [Option 1D = 35]

4. G. G. Chowdhury and 5. Chowdhury /i it @@t oo v dadt [Option 1D = 36]
Correct Answer :-

e R, D. Lankers/amz3t & [Option ID = 33]

10) Indian Standard ‘IS 1553:1989' is related to:

wr¥eiter wrorr o g v 1553 @ 1989 foad waffa 8 7

[Question ID = 10][Question Description = 52_q5Nz_PG_LIS_Q10]
1. Design of library furniture/gerrrmr weife =5t Bomsa [Option 1D = 37]

2. Design of library building/gerrrmr swer an Bamser [Option 1D = 38)

3. Design of library van/gerrer 3w w1 Bome [Option ID = 39]

4. Design of administrative buildings/garafers sawt = Bama [Option 1D = 40]
Correct Answer :-

s Design of library furniture /geraser woifas @t Zemsa [Option 1D = 37]

11) Who was the Chief Editor of "Webster's Third New International Dictionary of the English Language: Unabridged'?

Rrrofifaa & 3 wia davcs o 5 Scedteni Raveifl 3o & $Rae Foaul Reg & gra ducs 47

[Question ID = 11][Question Description = 52_qSNz_PG_LIS_Q11]
1. M. R. Gould/oraz. siees [Option 1D = 41]

2. Philip Babcock Gove/fsfem fawrr =id [Option 1D = 42]

3. Edmund Herry/wsas &t [Option 1D = 43]

4. Michael Gorman/#mme sitsda [Option ID = 44]

Correct Answer ;-
o M, R, Gould/wa.anz. smees [Option 1D = 41]

12) Who was the founder of Project Gutenberg?
Ul RIlSioll S|¢oIdel @ AFARE Wil & 7

[Question ID = 12][Question Description = 52_qSNz_PG_LIS_Q12]
1. Michael Hart/mEoa ot

[Option 1D = 45]
2. M. Gutenberg/es stwwet

[Option ID = 46]
3. Joan M. Reitz/smer wa. igm

[Option 1D = 47]
4, Edmund Herry/w=ss 28
[Option ID = 48]
Correct Answer :-
e Michael Hart/msma =8

[Option ID = 45]

13) Who among the following called "Reference Service” as a "personal intercourse between librarians and readers™?

Reafeifiaa d A Rowor "FHesl a1 @1 'grrorerneazil 30z urowml’ @ o wikpera dag @al § ?

[Question ID = 13][Question Description = 52_q5Nz_PG_LIS_Q13]
1. 5. R. Ranganathan/uanz dsmms [Option 1D = 49]

2. William A. Katz/Riferm w. wma [Option ID = 50]

3. Samuel Swett Green/ 3@ = == [Option 1D = 51]

4, Melvil Dewey/aafe 3 [Option 1D = 52]

Correct Answer :-
e 5. K. Ranganathan/vaar mmesr [Option 10 = 49]

14) Who said, "a number of basic human needs can be identified from the social and psychological functions of the mass
media”?
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78 wasl Ryt 8 7 "Aera Ot gerndl smaegasansit Bt dwn B gemer ster Hawr @5 A i sendsniors wral A o s Awdt

[Question ID = 14][Question Description = 52_qSNz_PG_LIS_Q14]
1. Willlam Katz and Bill Katz /Riffrme e slie o o

[Option ID = 53]
2. M. Sandelowski and H. Haas/ux s2cm=fr iz w2

[Option ID = 54]
3. E. Katz, M. Gurevitch and H. Haas/d. wies, va. s siie ver &=

[Option 1D = 55]
4. Sull H. Lee and Celia Hales Mabry /7 va el Jfiz 3feun &0 aedt

[Option ID = 56]
Correct Answer ;-
e William Katz and Bill Katz/&iféreer arwer iz B wea

[Option ID = 53]

15) Mobile App, "BARD" is meant for people with ;
g og "ard (desned)’ Ry fore o § 7

[Question ID = 15][Question Description = 52_qSNz_PG_LIS_Q15]

1. Visual Impairment/zfz mffm [Option ID = 57]

2. Hearing Impairment/gpor aifées [Option D = 58]

3. Speech and Language Disability fars 3z s areresen [Option 1D = 59]

4, Mental lllness /sty derdt [Option 1D = 60]

Correct Answer :-

a Visual Impairment/zftz miféer [Option 1D = 57]

16) "Reference and User Services Association” is a division of:

WA U3 gared Alidda valfimera’ keaer gaet 2 7

[Question ID = 16][Question Description = 52_q5Nz_PG_LIS_Q16]

1. Association for Information Science and Technology/esiidmslel Wiz SGHEE 3% B cgolctst [Option 1D = 61]
2. American Library Association/smfvea emsdt witmem [Option 1D = 62]

3. Medical Library Association/WfEwa o ssifmes [Option 1D = 63]

4, Society of American Archivists/i=wrt s s@iree awifeea [Option 1D = 64]

Correct Answer :-
e Association for Information Science and Technology /vaiif¥mem wiz Switem Asa vs Swsiesit [Option 1D = 61]

17) According to S. R. Ranganathan, "Spot Subject" is a

GH.ANEIIGIe D oAz "Hiic Hsaae 3 -

[Question ID = 17][Question Description = $2_qSNz_PG_LIS_Q17]

Subject formed by coupling two or more subjects /st =o 81 3 aiffrr Rell ot Brmes ween orn feer [Option 1D = 65]
Subject of great extension and enormous intention/fowa, B =os Aene 21 & 3807 aga A ar [Option 1D = 66]
Subject of small extension and great intention/ e faer fiwe o0 2 8 v waw 21 [Option 1D = 67)

Subject of great extension and small intention/ faw=r fraesr mues P A 41 35 ag & [Option 1D = 68]

ol o

Correct Answer :-
o Subject formed by coupling two or more subjects/g1 7n 8t 3 s R ! Breres g@en sR1 Feer [Option 1D = 65]

18) "The structure of a classification system on the basis of materials to be classified rather than on purely theoretical
considerations” is known as:

"guia: gt Rarvi 6 s geifeeor 6 stol arcdt JeEl @ sneme av el goned 6t sizaan” @t war s 8 -
[Question ID = 18][Question Description = $2_q5Nz_PG_LIS_Q18]

Literature Search/sfé~ =irar [Option (D = 9]
Taxonomy/geifezon s (SeaEiA) [Option 1D = 70]

Literal mnemonics/wnfsems s Sere /[ =2 @ [Option ID = 71]
Literary warrant/fess ade [Option ID = 72]

B e

Correct Answer :-
# |iterature Search/zmgea =ita [Option D = 69]

19) Which of the following is not a high-level class or entity in the BIBFRAME model?
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fBrafede 3 A wier Rradawrse 3 3o waz ot ar waradf & 7

[Question ID = 19][Question Description = $2_q5Nz_PG_LIS_Q19]
1. BIBFRAME Work/Ragaaas [Option 1D = 73]

2. BIBFRAME Instance/firemg sgaear [Option ID = 74]

3. BIBFRAME Item/faagsama [Option ID = 75]

4, BIBFRAME Title/fimrgacrsee [Option 1D = 76]

Correct Answer :-
& BIBFRAME Work/Rrigaamt [Option 1D = 73]

20) Who gave the concept of ‘Mental Revolution'?
‘st apifer'dt sratnzon faa & 7

[Question ID = 20][Question Description = 52_q5Nz_PG_LIS_Q20]
1. Henry Fayol/2=dt dedier

[Option 1D = 77]
2. Peter F. Drucker/dies uw. 553

[Option ID = 78]
3. F. W. Taylor/vw zerg 2oz

[Option ID = 79]
4. Philip Crosby /e a3t

[Option 1D = 80]

Correct Answer :-
e Henry Fayol/2st d=lier

[Option ID = 77]

21) Who authored the book Practice of Management?
' §ftrew iiw AolsHid aNA® geid & s Did & &

[Question ID = 21][Question Description = S2_qSNz_PG_LIS_Q21]
1. Peter Drucker/dies 553

[Option ID = 81]
2. Henry Mintzberg/2erdt et

[Option 1D = 82]
3. Henry Fayol /33 G=ile

[Option ID = 83]
4. Frederick Taylor/gEwem=

Carrect Answer :-
& Peter Drucker/dies 533

[Option ID = 81]

22) Which among the following is NOT a 'Process Theory' of motivation?

formtertian 3 3t oStar afirgEon =1 " gikoen Brgia &t 2 7

[Question ID = 22][Question Description = $2_qSNz_PG_LIS_Q22]
1. Expectancy theory/gemen w1 frgier [Option 1D = 85)

2. Goal-setting theory/oree frufzn fagia [Option ID = 86]

3. Content theory/!fma a=g g [Option ID = 87]

4. Equity theory /s o1 faghr [Option (D = 88]

Correct Answer :-
# FExpectancy theory/grawm @n g [Option 1D = 85]

23) LibQUAL+ is a web-based survey offered by:

fermaaer + d9 snenfea wdsmr £, s TRI ygIol @t Sl § :
[Question ID = 23][Question Description = 52_qSNz_PG_LIS_Q23]
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College and Research Libraries Association/=ich b= fiad oneddls velidngera [Option 1D = 89)
Association of Research Libraries/esifiesm sne Bl amedia [Option 1D = 90]
Library Administration and Management Association/amd weinicreum Us fiskric wiingym [Option 1D = 91]
Special Libraries Association/ztgrer omdisl wenfieom [Option 1D = 92]

oW

Correct Answer :-
o College and Research Libraries Association/f®ica b= Dol aneddty vaiitnrem [Opticn ID = 89]

24) A device that interconnects two or more networks and selectively interchanges packets of data between them is
known as

ooy FgasTer it 81 2w 3iffres Sieaot o smaw A siisar § 3y oy @ sy Gabe gafora wa A sine - ofyafela o §, sA wea § -
[Question ID = 24][Question Description = 52_q5Nz_PG_LIS_Q24]

Switch/ R [Option 1D = 93]
Gateway/3req [Option 1D = 94]
Hub/z= [Option (D = 95]
Router/mez [Option 1D = 96]

oW

Correct Answer :-
o Switch/Bam [Option ID = 93]

25) is a suite of protocols that were developed by the Department of Defence to provide a highly reliable and
fault-tolerant network infrastructure.

QIIepIcdl @1 %o H3E & B e e g scaitnr foraemia siis gl doaws srsizaet gem @eal @ fow RepRia fiben srm an

[Question ID = 25][Question Description = 52_q5Nz_PG_LIS_Q25]
DHCP/#t wa 7 t [Option ID = 97]

VPN/dt t gar [Option ID = 98]

PPPoE /i it it ait € (PPPoE) [Option ID = 99]

TCP/IP/Zt 2t ot / anf dt [Option ID = 100]

o R

Correct Answer :-
e DHCP/2t wa =it it [Option ID = 97]

26) Lycos is a search engine which was originally started as a research project at-

dAIF®IH UE W $oldl 8 53 gowt: ol AgIITeT Gi¥isen o U 3 9 fepan orr

[Question ID = 26][Question Description = $2_qSNz_PG_LIS_Q26]
Stanford University/wéw=wr afoafidt [Option ID = 101]

Carnegie Mellon University /sl 3oe gfemf3E [Option 1D = 102]

Harvard University/zrmae gfemfid [Option ID = 103]

Yirginia Tech/aiisen 3 [Option [0 = 104]

o pro—

Correct Answer :-
# Stanford University/zés=wis giemizidt [Option ID = 101]

27) Theodor Holm Nelson founded Project Xanadu in the year

BriErz 2icd ool of adl 3 Qeiae ‘Fens, & Targen Hl
[Question ID = 27][Question Description = $2_qSNz_PG_LIS_Q27]

1958/1958 [Option ID = 105]
1960/ 1960 [Option ID = 106]
1972/1972 [Option ID = 107]
1979/1979 [Option ID = 108]

bl D

Correct Answer :-
e 1958/1958 [Option ID = 105]

28) The first version of Unicode was

HIorepls w1 Ustll JFBI1 or

[Question ID = 28][Question Description = S2_q5Nz_PG_LIS_Q28]
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8 bit encoding/ 8 e samiiEer [Option 1D = 109]

16 bit encoding/ 16 fe seemifssr [Option D = 110]
32 bit encoding/ 32 e smepits=1 [Option D = 111]
64 bit encoding/ 64 ke stz [Option (D = 112]

oW

Correct Answer :-

® § bit encoding/8 K sawmifEst [Option 1D = 109]

29) A type of attack in which a person or program disguises itself as another person or program to gain access to some
resource is called

ZHCT @bl b Uk ot cafte areman e 4= 8 kol s —afie @1 glena @ w=u d Rl daree as @ Aises @ o os1 U0 ST oa
g, 91 el 3 7

[Question ID = 29][Question Description = $2_qSNz_PG_LIS_Q29]
Masquerading/mm=piEer [Option ID = 113]

Sniffing /feaiser [Option 1D = 114]

Phishing/fisfaier [Qption 1D = 115]

Spooling/agfem [Option 1D = 116]

a2

Correct Answer ;-
* Masquerading/ sz [Option 1D = 113]

30) The first virus recorded, the Creeper virus was written by
'BIUT aRFH D =4 # ol s ared ead g forem o e ?

[Question ID = 30][Question Description = $2_qSNz_PG_LIS_Q30]
1. Bob Thomas/dim e

[Option ID = 117]
2. Whitman Diffie/wme fa Rt

[Option ID = 118]
3. Martin Hellman/af@x Zodia

[Option ID = 119]
4, Fred Cohen/w soiga
[Option ID = 120]

Carrect Answer :-
& Bob Thomas/dm ama

[Option ID = 117]

31) The first US patent for an active RFID tag with rewritable memory was awarded to

freseaa deird & wre oitea e o6 A 31 291 2 usan g o Ude foper e orar er ?

[Question ID = 31][Question Description = 52_q5Nz_PG_LIS_Q31]
1. Kevin Ashton/om veem

[Option ID = 121]
2. Mario Cardullo/#nfsn gt

[Option ID = 122]
3. Sanjay Sharma/ e omit

[Option ID = 123]
4, David Brock/3Es 4ip

[Opticn ID = 124]
Correct Answer :-
& Kevin Ashton/oe voea

[Option ID = 121]

32) In the context of the spiral of Scientific Method, the verification phase is represented between which two cardinal
points?
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T Ta dsnfors ugl @ eyl d Araas @ ot eratafian fiva 9 fegal @ &a oo e sran & ?7
[Question ID = 32][Question Description = 52_qgS5Nz_PG_LIS_Q32]

MNadir and Ascendent/seitfReg diz amdism [Option ID = 125]
Ascendent and Zenith/andtso afiz givfzer Reg [Option 1D = 126]
Descendent and Zenith/ar@izwr sz sidry feg [Option ID = 127]
Descendent and Nadir/arEizor iz srifieg [Option ID = 128]

B R L ]

Correct Answer :-
o HMNadir and Ascendent/ sitRieg A andizm [Option ID = 125]

33) A researcher "X" published 5 manuscripts. Arranging the manuscripts in the descending order of their citations, the
sequence of the citations appears as 21; 15; 13; 3; 2. What will be the h-Index of the researcher?

MeFENeIddl "GdH ol Uld sFafciiiRIl B kb 3.5l & ISl T H 3 ge Yo fisen, ale sgeor e oa 21; 155 13; 3; 2 gidla 2 &
&Y sropenerasat W va. 3w w8 ?

[Question ID = 33][Question Description = 52_q5SNz_PG_LIS_Q33]
1. 13 ? 13

[Option ID = 129]
7.8 4

[Option ID = 130]
3 21 ! 21

[Option ID = 131]
4.2 /2

[Option ID = 132]

Correct Answer :-
e 13 ! 13

[Option ID = 129]

34) A publisher offers free access to articles for a week's or a month's time, Under which Open Access (OA) License will the

accessibility option fall?

ooy gooierdw Al @ goa A agol & e vor anars W ow W o Aaa S Boa ke vade (30) s @ siasia safereaar
(vRitalel) @1 fieca smgen ?

[Question ID = 34][Question Description = 52_qg5Nz_PG_LIS_Q34]

Green QA/3jm it w [Option ID = 133]
Bronze OA/4ie ait = [Option D = 134]

Golden QA/=i=2a ait = [Option 1D = 135]

Platinum OA/ it 3 w [Option 1D = 136]

R

Correct Answer :-
8 Green QA/sffa g [Option ID = 133]

35) 'Uptodate' (Kluwer) is:

ug3T (Tgde) T

[Question ID = 35][Question Description = 52_qgS5Nz_PG_LIS_Q35]
1. A digital repository for health science researches in Europe /92 3 Farea e ikl 2 v Bloea e (Riea fdisest) [Option 1D = 137]
2. A directory of open access journals in health sciences/Famrea firre 3 sivs wodm sl @6 BEkes [Option 1D = 138]
3. A resource for clinical decision support for health science professionals/ Fmzes Ferm w=rrmfE 27 Preafrba ok # ace @ e deuesr [Option 1D = 139]
4, An alert service from journals covered in a journal database/s0ia seR= # suffe sial & s & gien [Option 1D = 140]

Correct Answer :-
e A digital repository for health science researches in Europe /7@ 3 Farrer R site 27 vy Bl segm (Bfea Raiedt) [Option 1D = 137]

36) The International Council on Archives was founded in the year

afazaredla aficraApn: dog ultg (3ol w3 e arpize) &I Temuen g% off
[Question ID = 36][Question Description = $2_qSNz_PG_LIS_Q36]
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1943 /af 1943 3 [Option ID = 141]
1948 /7 1948 3 [Qption 1D = 142]
1952/ 1952 3 [Option 1D = 143]
1956 /@ 1956 3 [Option 1D = 144]

oW

Correct Answer :-
o 1943 /0 1943 i [Option (D = 141]

37) The term ‘Internet of Things was first used by:

deToie ATE fivw ug @1 wdyeer ueinT e g fosen srm ?

[Question ID = 37][Question Description = $2_qSNz_PG_LIS_Q37]
1. D. W. Lewis/31 zwc, gpa

[Option ID = 145]
2. Bob Thomas/«ia sism=

[Option ID = 144]
3. Kevin Ashton/SRm mees

[Option ID = 147]
4. Jian Qin/faxe fsr

[Option ID = 148]

Carrect Answer :-
& D, W, Lewis/dl =wr opa

[Option ID = 145]

38) Mational Centre for Children's Literature (NCCL) is related to

IR 9 At @y (serela e wiz Riedea freyas - wor ot it va) fipwd) wdffa 2 7

[Question ID = 38][Question Description = $2_qSNz_PG_LIS_Q38]
1. NCERT/um 3t € an= & [Option 1D = 149]

2. NBT/ga dft & [Option ID = 150]

3. RRRLF/am a3 a0 ver v [Option ID = 151]

4

39) Which princely state passed Public Library Act prior to independence?

Facicn @ yd forrorieiliaa 3 31 fow 2oft e of ard=iin graomem st uri fooar e ?

[Question ID = 39][Question Description = $2_qSNz_PG_LIS_Q39]
1. Rajputana/srengger

[Option ID = 153]
2. Kolhapur/=im=nz

[Option ID = 154]
3. Kashmir/=giz

[Option ID = 155]
4. Hyderabad/Zgwmm

[Option ID = 156]
Correct Answer ;-
& Rajputana/Im=rgien
[Option ID = 153]
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40) "The special library must, for instance, make much more use of what has come to be known as documentation than the

general library” stated by whom

"far2Y yorad (Siarpiiecerel) @al ST 2 3] HIAGA gramerm ol getoll 3 AR gramem Z1R1 Aflie su=er e sen @iy’ - ag st

w1 § 7
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[Question ID = 40][Question Description = 52_q5Nz_PG_LIS_Q40]
1. Aksel G.5. Josephson/srrdm st v S

[Option ID = 157]
2. Paul Otlet/die siece

[Option ID = 158]
3. Richard H. Johnson/ e eo Siioremr

[Option ID = 15%]
4. John Cotton Dana/Sis @ca 3=

[Option ID = 160]

Correct Answer :-
e Aksel G.5. Josephson/srrda =it v S AR

[Option ID = 157]

41) ldentify the recommendations made by National Knowledge Commission, 2005 to ensure sustained attention to the
development of libraries.

A. Implementation of Public Libraries Act in all states and UTs
B. Reassess staffing of libraries

C. Set up a central library fund

D. Prepare a roadmap for holistic development of citizens

Choose the correct answer from the options given below:

gerereril @ [RRpTeT Bt A s sarel e weel 3q Aedia sil AREI, 2005 or @ o1 anter Bl use dbifsie
A. it ==l e wE I Gl A ARdSIoRT gerrsrery ARIORIA T1e] @311

B. geaeswerit 3 wifdis wrawen (¥<fibe1) @1 Yorlcioe

C. Dk sfemer fefér @ o

D. syl & weyui fopra g Ui dA1e ween

oflal few a1e fameul 3 3 Jét Iz @I ada S :

[Question ID = 41][Question Description = 52_qg5Nz_PG_LIS_Q41]
1. B and C only/@ae B stz

[Option ID = 161]
2. Aand Donly/eamm Adz D

[Opticn ID = 162]
3. Band D only/@aa B dtz D

[Option ID = 163]
4, Aand C only/fadmr Az C
[Opticn ID = 164]
Correct Answer :-
@ BandC only/@aa B dfz C
[Option ID = 161]

42) As per UGC {Promotion of Academic Integrity and Prevention of Plagiarism in Higher Education Institutions) Regulations
2018, which penalties in case of plagiarism in academic and research publications shall be imposed?

A. Similarity above 10% to 40%: Shall be asked to withdraw the manuscript

B. Similarity above 30% to 40%: Shall be asked to withdraw the manuscript

C. Similarity above 40% to 60%: Shall be denied a right to one annual increment
D. Similarity above 40% to 60%: Shall be denied a right to two annual increments

Choose the correct answer from the options given below:

Rreaferemer afglerel AR (I BIg Frensil 3 seriiie Acalrser vd wfdfeas ardl &t Imenw &1 Yeargd) fformer 2018 & agpz
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Siefors aer ofter gwoer # mEftaw dift @ s # Rvw onf¥a 5t a=nan swesnr

A. 10% A afrp A okpe 40% o A Elol U uiglerit I 3ol sl a fo1e wal sImel
B. 30% A aiifrwr 31 cive 40% o e Bl U wiglenit Wl e s @ o1 wal Sl
C. 40% A Jffrr A cre 60% To AR Blol U2 b diithe daogly © sifPrpR A diRE ween
D. 40% A aftrp A okpe 60% e A Elbi U2 5l aiftks deigis & siffrpR A i ol

a1 12w o1g fnpoal 3 A 718 307 @1 o @ik

[Question ID = 42][Question Description = 52_qSNz_PG_LIS_Q42]
1. Aand Donly/sa Ade D

[Option ID = 165]
2. Aand C only/@am A iz C

[Option ID = 16§]
3. BandConly/sam B iz C

[Option ID = 167]
4, Cand D only/@aw C iz D

[Option ID = 168]
Correct Answer ;-
o AandDonly/mamAdz D
[Option ID = 165]

43) Which of the following Public Libraries Acts have the provision of library cess?

A. Kerala
B. Manipur
€. Harvana
D. Orissa

Choose the correct answer from the options given below:
fBrraifefna 3 A fra adsrr ywaerm aftifraa # oo 30w7 o1 gratne 3

A. T

B. aforg:
C. i

D. 3.
skl 2w =g fRnpoal 3 A 718 397 @1 o @ik

[Question ID = 43][Question Description = 52_qSNz_PG_LIS_Q43]
1. Aand Conly/sam Ade C

[Option ID = 169]
2. Band C only/®as B diz C

[Option ID = 170]
3. Aand Donly/mam Adz D

[Option ID = 171]
4, Aand Bonly/@am AdE B

[Option ID = 172]

Correct Answer :-
o Aand Conly/mamAdiz C
[Option ID = 169]

44) ldentify Mac Operating System of Apple
A, Sierra
B. Mojave

€. Catalina

prepp
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D. Debian
E. Big Sur

Choose the correct answer from the options given below:

wuel @& A st quircht bt usner &1 |

A, Brea

B, sim

C. dechen

D. 3Rr@

E. fom1 312

ofil 18w =1u fameul # A 1l Iz @1 T BT 2

[Question ID = 44][Question Description = 52_qgS5Nz_PG_LIS_Q44]

1. A, B, Cand D only/dvaa A, B, C, D [Option ID = 173]
2. A, C, DandE only/dma A, C, D, E [Option ID = 174]
3. B, C,Dand Eonly/awrT B, C, D, E [Option ID = 175]
4, A, B, C and E only/==rT A, B, C, E [Option ID = 176]

Correct Answer :-

o A, B, CandDonly/gmma A, B, C, D [Option ID = 173]

45) Which among the following are the examples of "Descriptive Metadata"?
A. Finding aids

B. Specialized Indexes

C. Selection criteria for digitization

D. Curatorial Information

Choose the correct answer from the options given below:

forsifeil¥aa A A "avioncam A3 9 JoeeI Did A &7

A. == At (Brsioss Uga)

B. fifdre srgmmbreR (FARRIISsS $e3a3i)

C. Biirrsiere © Te aracrs

D. w=pifaa IJmen

ofil 18w =1u fameul # A 1l Iz @1 T BT 2

[Question ID = 45][Question Description = 52_qgS5Nz_PG_LIS_Q45]

A, B and C only/=sam A, B 3fiz C [Option D = 177]
B, C and D only/=s=m B, C 3fiz D [Option ID = 178]
A, C and D only/wseT A, C & D [Option ID = 179]
A, B and D only/daer A, B 3fiz D [Option D = 180]

T

Correct Answer :-
e A, Band C only/gam A, B afiz C [Option D = 177)]

46) Semantic web is based on which of the following types of technologies:
A. Resources Description Framework (RDF)

B. Uniform Resource ldentifier (URT)

C. Ontologies

D. Indentions

Choose the correct answer from the options given below:

iR Tw A Brafifad 3 3 Roa gor & mwelie uz snenfya 3 7
A. Pt RaRpwere Gaacas(RDF)

B. ghrois it ansddwrr (URI)

€. amekifma
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D. s5orere
sia 2v oo Repedl # 3 A8 37 @1 o= i @
[Question ID = 46][Question Description = 52_qSNz_PG_LIS_Q46]

1. A, Band D only/zm A, B 3fiz D [Option [D = 181]
2. A, Cand D only/@aer A, C 2z D [Option ID = 182]
3. A, Band C only/a&am A, B 3fiz C [Option D = 183]
4, B, Cand D only/gae B, C 3z D [Option ID = 184]

Carrect Answer :-
s A, Band Donly/saa A, B iz D [Option 1D = 181]

47) Which of the following are the Product and Services of OCLC?
A. E 7 Proxy

B. Librarians yellow pages

C. Green Glass

D. Cataloguing Distribution Service

Choose the correct answer from the options given below:

fBroaferfior # 3 wier ot it wer 2t & Fraws 3iie Fand & 7

A. ¥ i izt

B. ensdi=ioa Aal a3a

C. ofler s

D. deeiifier Redwyes afta

oft R =1g Rraseal 3 3 aft s gd @

[Question ID = 47][Question Description = 52_q5SNz_PG_LIS_Q47]

1. A and € only/@ae A &z C [Option ID = 185]
2. Aand B only/@am A 3w B [Option ID = 186]
3. Band C only/@ae B 4tz C [Option 1D = 187]
4. Cand D only/d@Fe C afiz D [Option 1D = 188]

Correct Answer :-
o Aand C only/@@a A Jiz C [Option ID = 185]

48) Which among the following options are true about the concept "Folksonomy"?
A. It was coined by Thomas Vanderwal

B. It was coined in 2009

C. It was coined in 2004

D. It was coined by Brian Acton

E. It was coined by Jan Koum

Choose the correct answer from the options given below:

forraifertiant 3F 2 otot - 1 saemzonG "BioHAfN S ar A 78 8 7
A, ¢ ds3ard T J1gT 31T 3

B. 2009 # 151 oren 3

C. 2004 3 511 =12 3

D. st vaesr ST S161 o1 B

E. Sior oo D1er o161 o1 3

ofta e =10 Rroseal A A =8 s gdl ¢

[Question ID = 48][Question Description = 52_q5Nz_PG_LIS_Q48]
1. Aand B only/®am AdR B
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[Option ID = 18%]
2. Aand C only/daw A diz C

[Option ID = 190]
3. BandDonly/sa= B d=D

[Option ID = 191]
4. Dand E only/@aa 0 Az E

[Option ID = 192]
Correct Answer ;-
o AandBonly/asmm A B
[Opticn ID = 189]

49) An important Academic Social Networking site, 'ResearchGate’ was founded by
A, ljad Madisch

B. Soren Hofmayer

C. Horst Fickenscher

D. Brian Acton

E. Jan Koum

Choose the correct answer from the options given below:

e aisTagel digire ArmbSr sreafdler Arse Pl &t ramaen Reaar @6 of ?
A. S Alzer

B. Y1 div A

C. 8¢ fibwoon

D. Rzra g
E. Siar wn
a1 o oo Repedl 3 3 718 s oal ¢

[Question ID = 49][Question Description = 52_qSNz_PG_LIS_Q49]
1. A,Band Conly/@am A, Baiz C

[Option ID = 193]
2. A, Cand D only/@aer &, Cale D

[Option ID = 194]
3. B,Cand Donly/@am B, Cae D

[Option ID = 195]
4, C,DandEonly/gam C, DA E

[Option ID = 196]

Correct Answer ;-

o A BandConly/dmm A, Baiz C
[Opticn ID = 193]

50) In the context of dialogue between a user and computer through an interface, Tefko Saracevic's Stratified Model
(1997) when viewed from the human side represents which strata:

A. Content levels
B. Processing

C. Cognitive

D. Affective

E. Situational

Choose the correct answer from the options given below:

FCIBH SR SWERDT a1 BRI B did dg @ o 3, ewnl Aarkikhe’ @ Fadlad disa (1997) o apia © eftcwin 3 ¢ siel Uz
forrmtertian 3 &ier - w1 oz forsfoa g ?
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A, aferdzg (Content) 3z

B. gmam

C. IsIenras

D. smarcas

E. abf¥afer soa

il R 1w Rraseal 3 3 78 we oai @

[Question ID = 50][Question Description = 52_q5Nz_PG_LIS_Q50]

1. A, B and C only/d5am A, B iz C [Option ID = 197]
2. B, Cand D only/dae B, € 3tz D [Option ID = 198]
3. B, D and E only/d@e B, D sz E [Option 1D = 199]
4. €, D and E only/d@ae C, D 3 E [Option ID = 200]

Correct Answer :-
e A, Band C only/@am A, B sfiz C [Option D = 197]

51) Which of the following are true about the Z 39,507

A. It is an international ({ISO 23950) standard

B. The contextual Query Language is not based on Z 39,50 semantics

C. It was originally approved by the National Information Standards Organisation (NISO) in 1988
D. It is maintained by IFLA

Choose the correct answer from the options given below:

forroifertioer 3 ¥ Z 39,50 @ o 3 aal-om 3& 8 7

A, @B sfdeaedia (ardunsi - 23950) e 8

B. geientiier gt e Z 39,50 difeas uz anenfya ot 2

C. Jchen: AR oMl AlolD HITGal (Tl ME TH ) ozt ad 1988 I apAifea
D. ¥ b wel U JelidnT 8

i 2w s1w faascal 3f 2t 8t Iz gol ©

[Question ID = 51][Question Description = §2_qSNz_PG_LIS_Q51]
1. Aand Bonly/dma Adn B

[Opticn ID = 201]
2. Aand C only/@aa A & C

[Option ID = 202]
3. Band C only/@aa B diz C

[Opticn ID = 203]
4, Cand D only/wwe C #iz D

[Option ID = 204]
Carrect Answer :-
® AandBonly/@am Az B

[Option ID = 201]

52) Which of the following are not Posteriorising Common Isolates according to Colon Classification (sixth revised edition)?
A. Institution

B. Learned Society

C. Bibliography

D. Table

Choose the correct answer from the options given below:

fefeig aefiewr (o1 Fiviilm Fizmon) & agpar eatalian 3 31 e wardl waea voa (PCl) a6t 2 7
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A. drar (5¥8@w)
B. Riza wam (afsls msd)
C. sjerpeht
D. wrvft
ofl Bn =10 Repedi A A wf s gl ¢
[Question ID = 52][Question Description = $2_q5Nz_PG_LIS_Q52]

A and B only/dwm A &z B [Option ID = 205]
A and C only/@ae A gz C [Option ID = 206]
B and C only/@ae B 4z C [Option 1D = 207]
C and D only/a@me C 3fiz D [Option [D = 208]

ol P

Carrect Answer :-
& Aand B only/@am A B [Option 1D = 205]

53) Which of the following are the Data visualization software?
A, Vosviewer

B. Zotero

C. Minitab

D. NVivo

Choose the correct answer from the options given below:

frraferd¥nea 3 A sy Reprarssierst diccda wlor - A § 7
A, GrawE

B. i3

C. fuforda

D. war

o e =10 Rroseal A A =8 s gdl ¢

[Question ID = 53][Question Description = 52_qSNz_PG_LIS_Qb3]
1. B,Cand Donly/®am B, Caim D

[Option ID = 209]
2. A,Cand Donly/daa A, Caz D

[Option ID = 210]
3. A, Band Donly/drmm A, Bz D

[Option ID = 211]
4. A,Band C onlyfa@am A, Bz C

[Option ID = 212]

Correct Answer ;-
o B CandDonly/@mm B, Caie D

[Option ID = 209]

54) Which of the following are 'TQM’ tools?
A, Histogram

B. Pie Chart

C. Bar graph

D. Pareto Chart

Choose the correct answer from the options given below;

forraferd¥aa 3 3 oo "& ag o’ sawr § ?

A. B
B. arf =
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C. a1z aE
D. o¥r @

aftar v oo fraseal 3 3 =8 sae gdl ¢
[Question ID = 54][Question Description = 52_q5SNz_PG_LIS_Q54]

1. A and B only/saa A3z B [Option 1D = 213]

2. Band C only/@ae B diiz C [Option ID = 214]
3. Aand D only/aae A dite D [Option ID = 215]
4. Cand D only/dFe C aftz D [Option 1D = 216]

Correct Answer :-
o A and B only/f@am AR B [Option 1D = 213]

55) Identify web programming languages among the following
A. Ruby

B. PL/1

C. SQL

D. Python

Choose the correct answer from the options given below;

froaferfior A 31 g QoapfieT smarsii B gsaer Hifse :

A. =4t

B. ot va/ 1

C. vaw ua

D. urrmE

ofl B =10 Repedi A A wf s @l ¢

[Question ID = 55][Question Description = 52_qSNz_PG_LIS_Q5b5]

1. A, Band C only/zmm A, B 3fiz C [Option D = 217]
2. B, C and D only/dam B, C afiz D [Option ID = 218]
3. A, Cand D only/@=er A, C afiz D [Opticn ID = 219]
4. A, B and D only/daer A, B dfiz D [Option D = 220]

Carrect Answer :-
# A B andC onlyf@am A, B sfiz C [Option 1D = 217]

56) Which of these are based on Linux?
A, Fedora

B. Solaris

C. Ubuntu

D. Debian

Choose the correct answer from the options given below:
Braaferd¥na d | wier oftorasr az snerfya 5 7

A. G

B. stenfya

C. usg

D. 2R

il R 1w Rraseal 3 3 78 owe 9di @

[Question ID = 56][Question Description = 52_qSNz_PG_LIS_Qb6]
1. A,Band Conly/@am A, Baiz C

[Option ID = 221]
2. B,Cand Donly/@aer B, Cafia D

[Option ID = 222]
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| 3. A, Cand D only/@aer A, Caiz D

[Option ID = 223]
4, A, Band D only/@wm A, Bae D

[Option ID = 224]

Carrect Answer :-
¢ A BandConly/@am A, Bafiz C

[Option ID = 221]

57) ldentify open source library automation software
A. OPALS

B. LIBRARIAN

C. KOHA

D. Evergreen ILS

Choose the correct answer from the options given below:

fotgmtea 31 31 0ol Al sl scdlere! Hitredwas &t usrel Hifsw |

A, saea

B. aEgire
C. @&

D. wawja arg va oA
i 2w s1w faascal 3f 2t 78t az gol ©

[Question ID = 57][Question Description = $2_qSNz_PG_LIS_Q57]
1. A, Band C only/@am A, B 3z C

[Option ID = 225]
2. B,Cand Donly/@am B, Caie D

[Option ID = 226]
3. A, Cand D only/@aer &, Cale D

[Option ID = 227]
4, A, Band D only/@w= A, B Az D

[Option ID = 228)

Carrect Answer :-
o A BandConly/@am A, Bafiz C

[Option ID = 225]

58) Select expert systems from among the following
A. DEEPIN

B. PROSPECTOR

C. REACTOR

D. MYCIN

Choose the correct answer from the options given below:

fomafariiaa 3 3 frdwas gumcht 6 usarer ST ;

A. Jidior

B. qizdae:

C. Poues

D. weler

oft R =15 Rraveal 3 3 aft s gdi ¢

[Question ID = 58][Question Description = 52_q5Nz_PG_LIS_Q58]
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A, B and C only/@am A, B sfiz C [Option D = 229]

B, C and D only/s=m B, C 3fiz D [Option 1D = 230]
A, Cand D onlyfdae A, C sfiz D [Option ID = 231]
A, B and D only/@aa A, B 3tz D [Option D = 232]

N S PO L ey

Correct Answer :-
o A BandC onlyf@am A, B sfiz C [Option D = 229]

59) An invitational metadata workshop organised at Dublin in 1995 and treated as the birthplace of contemporary
metadata, was sponsored by

A. National Centre for Super Computing Application (NCSA)
B. Institute of Electrical and Electronics Engineering (IEEE)
C. Online Computer Library Centre (OCLC)

D. International Electrotechnical Commission (IEC)

Choose the correct answer from the options given below:

ad 1995 3 saftm #d wr Ao ATISITT DRI 1 IRIs6l RO SRIT 21 T2 331 feiiorsd ATISIRI D1 SIoAIi JIoll SR J3R0T QRIS _
S o5 sEm e

A, otorerer ez wiz guz wagiéer niadom (var Hiea v )

B. $¥éice siiw safdgme us saadifoaa sefiferatier (snd $ 2 9)

C. sifor oirsel ©FRfeT arsqd ez (N #H oa 1)

D, geoioreidl soTleddiid waler (i £ i)

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 59][Question Description = $2_qSNz_PG_LIS_Q59]

A and B only/®wa A ofiz B [Option ID = 233]
A and C only/oae A &z C [Option ID = 234]
B and C only/aae B iz C [Option 1D = 235]
B and D only/awe B iz D [Option 1D = 236]

Pk ot R s

Correct Answer ;-
o Aand B only/dsm A 3 B [Option ID = 233]

60) Which of the following are examples of Non-probability Sampling?
A. Convenience Sampling

B. Simple Random Sampling

C. Quota Sampling

D. Stratified Random Sampling

Choose the correct answer from the options given below:

Rrafiiiaa 3 2t Ber angro Rcels (ot - QRRAREY Asafdier & scmr E 7
A, gfaemgrne forceler

B, wea aelew Grgela

C. zerion forgofa

D. =rfiazar meRa® figofa

it R =1g Rraseal 3 3 aft s gdi @

[Question ID = 60][Question Description = 52_q5Nz_PG_LIS_Qé0]

1. Aand B only/@am Az B [Option ID = 237]

2. Aand C only/aaa A dite C [Option ID = 238]
3. Band C only/@aa B 4tz C [Option ID = 239]
4. Cand D only/dFe C afiz D [Option (D = 240]

Correct Answer :-
® A and B only/d@wre A 3 B [Option ID = 237]

61) Who among the following were members of the Advisory Committee for Libraries (1957)?
A, B 5 Kesavan
B. S R Ranganathan
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€. P N Kaula
D. A P Srivastava
E. D R Kalia

Choose the correct answer from the options given below:

forgmiter3am A wia - wia Yeerprer wereier]l Al (Advisory Committee for Libraries) (1957) @ wesa & :
A. dioa. Tt

B. ual. 3. =mient

C. dl. o1 wien

D. w di. gffaram

E. 3i. s wifern

aifl fon oo Rrpedl 3 3 #1d! o2 9ol

[Question ID = 61][Question Description = 52_q5Nz_PG_LIS_Q61]

1. Aand B only/dsm A dz B [Option ID = 241]
2. Aand C only/wmT A diz C [Option ID = 242)
3. Band D only/w@m B &z D [Option 1D = 243)
4. Aand E only/@am A 3y E [Option ID = 244]

Carrect Answer :-
# A and B only/@am A 3w B [Option ID = 241]

62) Which among the following are examples of primary channels of communicating research?
A. Journals

B. Encyclopedias

C. Theses

D. Thesauri

E. Biographies

Choose the correct answer from the options given below:

fomafeian 3 ofier & e0uVT S Rie g detel & ol - el 3 J6ERVT & ;
A, ol

B, kramm

C. oiter yds

D, vabarit o

E. Sitaer aftra

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 62][Question Description = §2_qSNz_PG_LIS_Qé62]

A and D only/aae A &z D [Option ID = 245]
A and C only/owe A &z C [Option ID = 246]
B and D only/we B iz D [Option 1D = 247
C and E only/asm C gz E [Option 1D = 248]

N R VC I

Correct Answer ;-
e A and D only /e A diz D [Option 1D = 245])

63) Which of the following are true about the Special Libraries Association (SLA)?
A. SLA was formed in the year 1909

B. John Cotton Dana was the founder President

C. It has its headquarters in Chicago

D. Publishes Science and Technology Libraries, a journal

Choose the correct answer from the options given below:
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fafdree grarrrera du (v ga §) & ' & Beefeifa Bia A weer wea §
A. Rifdme gramer 3g (eA g v) B Fargen 1909 4 52 <6

B. sifol wlcel 31611 S HFUIUTS 31eas] 4

C. seroT gz roeEn & Rea 3

D. =g "uEw vz dasildisl syt SR Soicl W1 YEbIgeT Tl &

il fon o1 fRrpedl A 3 A8t s g @

[Question ID = 63][Question Description = 52_qSNz_PG_LIS_Q63]
1. Aand D only/@a A D

[Option ID = 249]
2. Band C only/®as B diz C

[Option ID = 250]
3. Aand Bonly/dam A4 B

[Option ID = 251]
4, Cand D only/@aw C iz D

[Option ID = 252]
Correct Answer ;-
o AandDonly/mamAdz D
[Option ID = 249]

64) Which of the following are related to AGLINET?

A. AGLINET is a voluntary network of agriculture libraries around the world

B. AGLINET is consortia of agriculture university libraries of India

C. AGLINET centres provide partner libraries with access to the literature originating in the country or the region
D. AGLINET is a national network of agriculture libraries in India

Choose the correct answer from the options given below:

forgaiterian i ®la - @iel "wecllore’ 3 Adi2r & ?

A, g3 farg 3 @it fasmer del gramerl o1 wfcee’ FaRkaw ocas &

B, ‘wocfinic’ s @ ot Rrafienca & geamrcril @1 oeifdfer

C. 'vocllore’ dics weuEll grameril g 291 # arerar Reeft g A 7= = 22 anfémr o Juoeer o &
D. 'vocilore’ sza 3 T YIamIcril ®I AR silca® &

oifr o are femseal 3 3 Adl vz 9 ¢

[Question ID = 64][Question Description = 52_q5Nz_PG_LIS_Q64]

1. Aand C only/d@swer A 3 C [Option ID = 253]
2. Aand D only/7we A di D [Option 1D = 254]
3. B and D only/w@w B &z D [Option ID = 255]
4, Cand D only/gxm C &z D [Option 1D = 256]

Correct Answer :-

o Aand C only/aweT A diz C [Option 1D = 253)

65) Which among the following represent, "Asynchronous” reference transactions?
A. E-Mail

B. Web Forms

C. Video Conferencing

D. Ask A Service

E. Digital Reference Robots

Choose the correct answer from the options given below:
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forsaifer¥ne 3 31 wier "viiswlora” p3ar gisiaoer @ solar 3 ?
A.¥-da

B. du wissd

C. difs= wehiReT

D. sz v Akds

E. Bfra Yoiva Aaca

ol fou sre fepedl 3 3 w1l st @1 aws difene ©

[Question ID = 65][Question Description = 52_qSNz_PG_LIS_Q65]
1. A, Band D only/daa A, B afiz D

[Option ID = 257]
2. A,Band Conly/@aa A, B3fiz C

[Option ID = 258]
3. B,Cand Donly/@am B, Cae D

[Option ID = 259]
4, C,DandEonly/gam C, DA E

[Option ID = 260]

Correct Answer ;-

o A BandDonly/@am A, BaizD
[Option ID = 257]

66) Match List | with List Il

List | List Il

A. Khuda Baksh QOriental Library 1, Tamil Nadu

B. Rampur Raza Library Il. Bihar

C. Sarasvati Mahal Library Ill. Uttar Pradesh
D. Nehru Memorial Museum & Library|lV. Delhi

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

Zreht - exezigl]

A, wreT waer siPdee grinery |. aifdrererrs
B. 91z T QIRIBIOR Il, f&Er

C. s3Faddl #ea YFamo’ lIl. 3712 yeur
D. oiEF AAfwre RIhew v ardgs IV, et

sk 1o oo Repedl & 3 516l 702 giene :
[Question ID = 66][Question Description = 52_qSNz_PG_LIS_Q66]

A-I¥,B-N,C-1Il, D-I[Option ID = 261]
A-Il,B -1, C-1,D-IV[Option ID = 262]
A-1,B-11,C-1Il, D-IV[Option ID = 263]
A<, B-1,C-1,D- IV [Option ID = 264]

T

Carrect Answer :-
o A-IV,B-Il, C-Ill, D-1[Option ID = 261]

67) Match List | with List Il

List | IList 0

Conference Theme

A. 69" |[FLA General Conference and Council [l. Access Point Library, Media - information culture

B. 73"YIFLA General Conference and Council |II. Connections, Collaboration, Community

C. 78t IFLA General Conference and Council |III. Libraries now-Inspiring, Surprising, Empowering

D. 82" IFLA General Conference and Counci I|IV. Libraries for the future Progress Development and Partnership
Choose the correct answer from the options given below:

I -1 B gt -1l A gAferm B ¢
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et -l

et -l

(F1FrcTan)

(g2 <)

A. 69 df 30F U Ta ¢ Shoid WIBH
Us SR

|. st fig s, JiiE=m - Imen
Firani

<

B. 73 < s¢ v var v SOOI WIHAGTS

I, siad, waee1, JICrT

GEI®I P2 L4 |
C. 78 df 2% v var v sl wIBHGS . o © gereea-UD, TR,
GEIEP2La | B2EY £33

D. 82 < ¢ v var v SO DI AL
R 3 A2y |

IV. siftrer < oo @ gl foepra
GHEIl HGHISTAT

ofta v =1 fraseal & 7 A saz gfow ¢

[Question ID = 67][Question Description = 52_q5Nz_PG_LIS_Q67]

1. A-LB-I,C-1I¥, Dl

[Option ID = 265]
2. A-IV,B-1I,C-1,D-1

[Option ID = 266]
LA-LB-IV,C-H,DO-1

[Option ID = 267]
4. A-IV,B-1,C-1,D-1

[Option ID = 268]
Correct Answer ;-
o A-1,B-N,C-I¥, D-N
[Option ID = 265]
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68) Match List | with List Il

List | lList I

Author IScurce

A. A. K. Das Gupta |I. The Rise of Current Composite Bibliography
B. AM Lewin Robinson |II. An Essay in Personal Bibliography

C. T. Besterman |III. Systematic Bibliography

D. Le Roy Harold LinderIIV. The Beginnings of Systematic Bibliography,

Choose the correct answer from the options given below:

et -1 ot et -1l 3 g if

et - et -

(o) |(zRe1)

A, o T SIE I. § 2151 s wIoT IR Rk e
B. v v dfdw difdca= I, o1 vwel 5o uslerar [Afeasiisiih!

C. & Avcdiaa . Brcafte Ridasiisii

D. & 37T 3ics Riosz IV, z Rifsion i Brcite Rikeisib!

a1 o oo Repedl & 3 318l 302 giome :
[Question ID = 68][Question Description = 52_q5Nz_PG_LIS_Q68]

A-NI,B-1¥,C-1,D- 1l [Option ID =
A-1,B-1l,C-Iv,D- Il [Option ID =
A-I,B-1,C-1Il,D-IV[Option ID =
A-1l,B-1l,C-I¥,D-|[Option ID =

bt B

Carrect Answer :-
o A-|ll,B-1V,C-1,D-1l[Option ID =

269]
270]
271]
277]

269]

69) Match List | with List Il

List | List 1

A, Strategic sharing

I. Maximising efficiency

B. Paradigmatic sharing{ll. Sharing between teachers and students

C. Directive sharing

lll, Establishing a novel distinguishable research approach

D. Social sharing ‘IV. Relationship and community-based activities

Choose the correct answer from the options given below:

et -1 @ et -1l A AR B

et -

et -1
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oRI$1)

A. vorsiiferas wssrsiar (FEohrn

||. geraradiar

oI $a1)

B. escreaayes wanmel (GuRswifte

[ll. frgrent aen ReEnfdEt o & HEnser

oI $1)

C. ferdoncnss Assisial (srefdca (lll. wos ordiar arar Rifdree onier Farera @61

- AT I

D. arafSrer wswnsEer (Aera grter) |V, AwE - aour ager areniya oo

of o a1e sl & 21 w1t saz giene ¢

[Question ID = 69][Question Description = 52_q5Nz_PG_LIS_Q69]

1. A-11,B-1,C-1ll, D- IV [Option ID = 273]
2. A-1,B-1II,C- 1, D- IV [Option ID = 274]
3, A-IV,B-1,C-1ll,D-l [Option ID = 275]
4, A-IlI,B-11,C-1V, D- 1 [Option ID = 276]

Correct Answer :-

e A-Il,B-1,C- 1N, D-IV[Option ID = 273]

70) Match List | with List Il

List |

IList 1

Metadata

Examples

A, Administrative Metadatall. Documentation of the physical condition of responses

B. Preservation Metadata |II. Search Log

C. Technical Metadata

|III. Tracking of system response time

D. Use Metadata

|IV. Selection criteria for digitization

Choose the correct answer from the options given below:

et -1 Bt et -1 3 g Hif

et - | et - I
A. el AcsET |, gferagziiail &t sfiferee Rreifer @1 gelzmar
B. abrgmer sy I, wref wifer

C. amoiidt Ae=er

111, Birzea Pradics ersd &1 uan asien

D. suenet dAcrsiea

V. Rfemaes o e o ancs

i Ru s1e faseal 3 31 A8t 3w giew

[Question ID = 70][Question Description = $2_qSNz_PG_LIS_Q70]

T.A-LB-ILC-1,D-1¥

[Option ID = 277]

2. A-IV,B-LC-HL,DO-1
[Option ID = 278]

3. A-ILB-IV,C-1,D-1

[Option ID = 279]
4, A-NLB-I¥,C-1,D-1

Carrect Answer :-
¢ A-LEB-I,C-N,D-1¥

[Option ID = 277]
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71) Match List | with List I

List |

List Il

A. Member checking

l. Attitude Ratings

B. Likert scale

Il. Virtual conversation

C. Thurstone Equal Appearing Interval Sca[e||l|. Bipolar scale

D. Synchronous

IV. Reverification of collected data and interpretations

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAferm B ¢

et - et -1l
A, FSFT A |. arfdrgfar Baedzor
B. ferasd Gamon I, st Harg
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C. ersdeer warer arAl siaraz
i

. Ezepeht Saren (Bipolar)

D. awsifers

IV, ziftrer srer wr gorzfcangs i

o

ofta v =1 Rrwseal & 7 A saz ofow -

[Question ID = 71][Question Description = 52_q5Nz_PG_LIS_Q71]

1. A-IV,B-1Il, C-1,D- Il [Option ID =
2. A-1ll,B-1¥,C-Il,D-|[Option ID =
3. A-1,B-1l, C-IV,D-lll [Option ID =
4. A-N,B-11,C-1¥,D- 1 [Option ID =

Correct Answer :-

@ A-IV,B-1Il,C-1,D -l [Option ID =

281]
282]
283]
284]

281]

prepp

Your Personal Exams Guide

72) Match List | with List Il

List | List ||

MARC Tag [Field

A. 020 tagl. Marks: a personal name main entry (author)

B. 100 tag|ll. Marks the physical description

C. 300 tag|lll. Marks a personal name added entry

D, 700 taglV, Marks the International Standard Book Number (ISBN}

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 SRR R

et -l et -l

(s 2a) (&)

A, 020 Ea1 ||, Gafipe o fzea gfalte (crae) @1 corfar &

B. 100 2Z=1 |||, siiferer avler @l gorlar

C. 300 231 |, dafroe o zaz gfafte o gorfar 2

D. 700 =1 |V, soaeisi Aen s[e J3%l (38 ¢ & gol) @) sofar 3

iy v s1e faseal 3 31 78t 3w giew

[Question ID = 72][Question Description = 52_qSNz_PG_LIS_Q72]

. A-IV,B-LC-1,D-1

[Option ID = 285]
s B BBl

[Option ID = 286]
3 A-ILB-ULC-L,D-IY

[Option ID = 287]
4. A-1,B-1,C-1V,D- I
[Option ID = 288]

Correct Answer :-
 A-IV,B-LLC-I1l,D-1I

[Option ID = 285]

73) Match List | with List Il

List | List ||

A. Quantitative Approach |. Gantt Chart

B. Scientific Management |Il. Bureaucratic Structure

C. Behavioural Approach |lll. PERT /7 CPM

D. Organisational ApproachllV. Theory X and Theory Y|

Choose the correct answer from the options given below:

I -1 B gt -1l A gAfera B ¢

et -| et -1l
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A, HEAT IOETH |. =1ic @

B. dsnfore gater 1. siiezene el (RRIG o TcaTs)
C. =asaEl 3uEm . <t $ 3= & / #5t t os

D. FaacHT JUPTH IV, Brgia X sz Brgiam Y

oY R a1 famedl A A 2l sme b :

[Question ID = 73][Question Description = 52_qg5Nz_PG_LIS_Q73]

1. A-NL,B-1,C-I¥,D-I

[Option ID = 289]
2. A-NLB-IV,C-1,D-1

[Option ID = 290]
3. A-IV,B-1,C-1,D-1I

[Option ID = 291]
4. A-NL,B-1,C-IV,D-1I

[Option ID = 292]
Correct Answer :-
o A-NIILB-(,C-1¥,D-1

[Option ID = 289]
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74) Match List | with List Il (Match the digital library initiative with the institution involved during their inception/creation)

List |

IList I

A. Alexandria Digital Libraryll. Cornell University

B. arXiv

lI. University of California

C. Universal Digital Library |III. University of Illlinois

D. Project Gutenberg

|IV. Carnegie Mellon University|

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAferm B ¢

et -1

et -1

A. sicasifsn Biorea ensgdt

|. Do JREBA

B. amzfazma

1. gferatifé siie Dfermiicin

C. gfsr=ia Bhrea asgii

. =foraBRidl siiw sieelisa

D. qrsrre serst

IV. okl A glerafid

of o a1e sl & 21 w1t saz giene ¢

[Question ID = 74][Question Description = 52_q5Nz_PG_LIS_Q74]

1. A-1L,B-1I,C-1I,D-I¥

[Option ID = 293]
2. A-NLB-ILC-1L,D-I¥

[Option ID = 294]
3. A-1L,B-1,C-1v,D-1lI

[Option ID = 295]
4, A-IW,B-NLC-1,D-1

[Opticn ID = 296]
Correct Answer :-
e« A-1,B-II,C-1I,D-1¥V
[Option ID = 293]

75) Match List | with List Il

List |

[List 1

A. Screen Magnification Software]l. Microsoft Narrator

B. Screen Reading Software |II. VYaachak

C. Speech Synthesizer Software |III. Megadots

D, Braille Translation Software |IV. ChromeVis

Choose the correct answer from the options given below:
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TRt -1 @ et -1l A ARE Hif

et -| et -1

A. waiior aifiatls siwere |. BT ¥
B. saller $if$ar siwca I, araw

C. ure Fiedww divcdae (i Bidarsor diweday) |, Aesica

D. Y1 3gare HiweaR IV, Siafea

ofta v =10 frwseal & A 7 saz oferw -

[Question ID = 75][Question Description = 52_qSNz_PG_LIS_Q75]

1. A-1l, B -1, C-IV,D-I[Option ID = 297]
2. A-1ll,B-1V,C-1,D- Il [Option ID = 298]
3. A-I¥,B-1, C-Il, D- 1l [Option ID = 299]
4. A-IV,B-1Il, C- 1, D-I[Option ID = 300]
Correct Answer ;-

o A-II,B-1I,C-1¥,D-I[Option ID = 297]
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76) Arrange the following software according to their year of origin in chronological order :

A. DSpace
B. EPrints
C. G5DL

D. Omeka

Choose the correct answer from the options given below

forraifertian Fiued=rz @) Jorhl Icuft wIaagngREn: cafied o

A, 41 0w

B. £ Riga

C. oit v 3t ea

D. s

il e 1w Rraseal 3 31 78 swe gai @

[Question ID = 76][Question Description = 52_q5SNz_PG_LIS_Q76]

. C, B, A, D [Option ID = 301]
. D, A, B, C [Option ID = 302]
B, C, D, A [Option 1D = 303]
A, B, C, D [Option 1D = 304]

Correct Answer :-
e (C, B, A, D [Option ID = 301]

77) As per APA Reference Style (6tPed), for a journal article, which sequence of bibliographical elements is correct in the

context of reference structure?
A. Author of the article

B. Title of the journal

C. Title of the Article

D. Year

E. Pages

Choose the correct answer from the options given below

afepest snda @ e v o ¢ Ywia yoda (mor deaon) & s scH divaen & gzier A spencaw acal wr wier w1 aw W B

A. I @ dEE
B. ufefmer @i ofickes
C. smaw w1 ofidko
D. ad

E. gso
a1k fon oo Rrpedl 3 3 718 s w4
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[Question ID = 77][Question Description = 52_qSNz_PG_LIS_Q77]
1. A,D,C,B,E

[Option ID = 305]
2. A,B,C,D,E

[Option ID = 306]
3. A,D,B,CE

[Option ID = 307]
4, A, C,B,D,E

[Option ID = 308]
Correct Answer -
« A D C, B E

[Option ID = 305]

78) Arrange the following e-learning initiatives related to higher education in India in chronological order:
A. SWAYAM MOOCs

B. e - gyan kosh

C. e - PG Pathshala

D. NPTEL

Choose the correct answer from the options given below

stz # Foaaz e 7 At € - aitler ganedl oY woaaa srafed o
A. FauA qaHA

B. & - smorpIor

C. § - di sft uoemen

D.emdié&isva

il fon o1 fRrpedl A 3 A8t s g @

[Question ID = 78][Question Description = 52_g5Nz_PG_LIS_Q78]

1, A, B, C, D [Option ID = 309]
2. B, C, D, A [Option ID = 310]
3. B, D, C, A[Option ID = 311]
4. C, D, A, B [Option ID = 312)

1

¥ 1

Carrect Answer :-
s A B, C, D [Option ID = 309]

79) Arrange the steps of the "Digital Reference Model” derived from Lankes (1998) and Virtual Reference Desk Project
(1998) in the correct sequence

A. Triage

B. Experts Answer Formulation
C. Tracking

D. Question Acquisition

E. Resource creation

Choose the correct answer from the options given below

Ao I gRranfea "Riia Yoka disa” (1998) wd Rigea Yoia v gvae (1998) & faficer mavil o 78 o I aeims
A, grite

B. vaaud sieas BIRfcIger

C. s

D. adys vadisieral

E. et fogdora

i 2w a1 faescal 3f 2t 78t 3 gol ©

[Question ID = 79][Question Description = 52_qS5SNz_PG_LIS_Q79]
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» E [Option (D = 313]
,» E [Option D = 314]
. D [Option |D = 315]
. E [Option ID = 314]

o mo
o0
M m

= O

N
e

Correct Answer :-
e A C,B, D, E[Option ID = 313]

80) Arrange the following Public Libraries Acts according to their year of enactment in ascending order :
A, Gujarat

B. Chattisgarh

C. Rajasthan

D. Goa

Choose the correct answer from the options given below

ARSRERD YRt itiRral & alibrems aut o aRid ow d =i ol
A. sERm

B. oriliee

C. et

D. =i

ofl) Bn =1 Repedi A A wd s gl ¢

[Question ID = B0][Question Description = 52_qSNz_PG_LIS_Q80]

1, B, A, C, D [Option ID = 317]
2. D, A, C, B [Option ID = 318]
3. D, C, A, B [Option ID = 319)
4. A, D, C, B [Option ID = 320]

Carrect Answer :-
« B A C,D[Option ID = 317]

81) Arrange in sequence the following books authored by 5. R. Ranganathan in order of their first publication.
A. Documentation Genesis and Development

B. Library Manual

C. Classified Catalogue Code

D. Prolegomena to Library Classification

Choose the correct answer from the options given below

. AR Welen Rl oRkaa BesifciRaa graml @ sord gee gasieret ad O AR GHdR waaiead o8
A. sErgiRe siei o3 3aonudic

B, asgd diepm

C. acnfawbEs decdist s

D. Qiceiden ¢ arsgst amiifibadem

iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 81][Question Description = 52_qS5Nz_PG_LIS_Q81]

C, D, B, A [Option ID = 321]
D, C, B, A [Option ID = 322]
D, B, C, A [Option ID = 323]
C, B, D, A [Option ID = 324]

HE N TR 5 Y

Correct Answer :-
a C, D, B, A[Option ID = 321]

82) Arrange the following layers in their correct sequence in the OS5l Model.
A. Network Layer

B. Physical Layer

C. Presentation Layer

D. Data Link Layer
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E. Application Layer

Choose the correct answer from the options given below

st.oaand. ol & frafalaa Tl ©f sad 7t oa d waliea o1 |
A, Tica® Tz
B. siiferm 712

E. titadsera =1z
i R s1¢ faaseal IF A 7é 3wz gol :
[Question ID = 82][Question Description = $2_qSNz_PG_LIS_Q82]

D, A, C, B, E [Option ID = 325]
A, C, E, B, D [Option ID = 326]
B, D, A, C, E [Option ID = 327]
C, A, B, E, D [Option ID = 328]

r T

Pk ot R s

Correct Answer :-
e D, A, C, B, E [Option ID = 325]

83) Arrange the following reference and information sources according to their first year of publication:
A. Europa Year - Book

B. Whitaker's Almanac

C. Guinness Book of World Records

D. Statemen's Year - Book

Choose the correct answer from the options given below
forgmterfian desl iz IEren Tl o 3o Yed Yblolol aH o oI cadiierd @i -

A, Jaa a7 - g5
B, sEtwd saaas
C. Bells go siiw acd roEs

D, Fecdicl "B g5
ofr fon a1e farmseal 3 3 7t Iz ga ¢

[Question ID = 83][Question Description = $2_qSNz_PG_LIS_Q83]
1. B,D, C, A

[Option ID = 329]
2. BLA, D, C

[Option ID = 330]
Fo DA B G

[Option ID = 331]
4, D,B, A, C

[Option ID = 332]

Carrect Answer :-
« B D C A

[Option ID = 329]

84) Arrange the following with their year of establishment in ascending order -
A. American National Standards Institute

B. International Telegraph Union

C. Internet Engineering Task Force

D. World Wide Web Consortium

Choose the correct answer from the options given below
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foraaiferfiaa @ emuen ad @& aRid ow # wafien o

A, arif¥at orera s ST

B. dcvoreniar celiope Jiormor

C. feore Shtorafist as B

D. ues as 99 weaAlidaw

oftd R o1e Rraseal 3 3 aft s gdi @

[Question ID = 84][Question Description = 52_q5Nz_PG_LIS_Q84]

1. C, D, A, B [Option ID = 333]
2. D, A, B, C [Option ID = 334]
3. A, B, C, D [Option ID = 335]
4. B, A ]

. A, C, D [Option ID = 336

Correct Answer :-
e C,D, A, B [Option ID = 333]

85) Arrange the following by their year of creation in ascending order :
A. Moris Worm

B. Creeper Virus

C. Storm Botnet

D. Animal (Trojan)

Choose the correct answer from the options given below:
forgmteilian @I o Frufal ad @& 218l oo A calien o |

A, difye anf

B. @lur arsa

C. 720l deoie

D. wfmrer (rsvon)

i 2w s1w faascal 3f 2t 78t az gol ©

[Question ID = 85][Question Description = $2_qSNz_PG_LIS_Q85]
1. A,C,D, B

[Option ID = 337]
2. C,B,A,D

[Option ID = 338]
3. B,D, A, C

[Option ID = 339]
4, D,A CB

[Option ID = 340]
Carrect Answer :-
¢ A C DB

[Option ID = 337]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: e-Granthalaya can be customised by the library,
Reason R: Libraries opting for e-Granthalaya have to pay NIC for hosting, maintenance etc.

In light of the above statements, choose the correct answer from the options given below
of) 3 ora 2w s § ¢ wes afdrperat (A) @ wu di fafiga & & gz suss @ (R) D =a

e (A) | grrorm BT $ - gerorm B IEdipd (Grcasslee) fkear o oo 8
BT (R) : § - gwwows &1 Ja1 @186l Al g @1 21fEceT aor ezem (dedicin) afe & fore va s i @1 yerare oren u3sn
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IORGT wUE 95 el #, S Re s1v Roedl #d A 393 sare 3ar @1 gger Sifsne ¢

[Question ID = 86][Question Description = 52_qSNz_PG_LIS_Q86]
1. Both A and R are true and R is the correct explanation of Af{A) sz (R) St 78 & s (R), (A) o5t =t =me=m &

[Option ID = 341]
2. Both A and R are true but R is NOT the correct explanation of A/ (A} d@iz (R) g6l =& & usag (R), (A) & =& sv=n et 8

[Option ID = 342]
3. Ads true but R is false/ (A) =28t & wmr (R) st =it

[Option ID = 343]
4. Ais false but R is true/(A) 7t o & ooy (R) ot

[Option ID = 344]

Correct Answer ;-

e Both A and R are true and R is the correct explanation of A/(A) 3z (R) =it =t £ 3fiz (R), (A) <6 =t wowen &
[Opticn ID = 341]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: No need to have registration for the copyright works in India.
Reason R: As per the Berne Convention, copyright protection is obtained automatically.

In light of the above statements, choose the correct answer from the options given below

ofld) A werel Rus1w 3 : ww s (A) @ wu 3 R § d geer 3ad e (R) & % i
aifdreserst (A) : wRa @ YRR (Gidedc) & Rie dstikor G araeawar & 3

orvr (R) : a0t @wiicrel @ SR, YRIRInRIoR (Sidkmsc) sas & ym 8 s 3

SR Wil B ATCkD 3, o By o1e Rvedl # A IR IUgrs 3 B a96 BT ;

[Question ID = 87][Question Description = 52_q5Nz_PG_LIS_Q87]

Both A and R are true and R is the correct explanation of A/(A) 3z (R) ==t =2t 2 3z (R), (A) & =t =o==n £ [Option 1D = 345])

Both A and R are true but R is NOT the correct explanation of A/({A) sz (R) Sisi =2t & wemg (R), (A) St aft srxmn @t £ [Option 1D = 346]
A is true but R is false/ (A} =2t & usegg (R) =2t =8t € [Option ID = 347]

A is false but R is true/(A) 3& ot 8 oz (R) 38t € [Option ID = 348]

o B

Correct Answer :-
& Both A and R are true and R is the correct explanation of A/(A) 3z (R) Si=l =8 € iz (R), (A) & 3dt ==m=n 8 [Option 1D = 345]

88) Given below are two statements
Statement I: Yahoo can explore more count of web sites while searching a query than Metacrawler,
Statement Il: Meatcrawler is a Metasearch engine,

In light of the above statements, choose the most appropriate answer from the options given below

oA & weror Ru s1w ¥ : v afderesr (A) @ wa i fRifaa 3 & gaw 39 oo (R) 5 wa # :
sffenerst (A) : oz, ol gear @1 a0 aer Acrpsaz Hi goon # afes dgaarse B s@Agen wr T 3
aas (R) : dcrpsar oo A ad oo 3

IR wUell 95 el 3, ofkl Ry w19 Resedl 3 A wgA yagrr I w1 awet Sifsre :

[Question ID = 88][Question Description = 52_q5Nz_PG_LIS_Q88]
1. Both Statement | and Statement Il are correct/(A) 4z (R) 5=l == & sfiz (R), (A) &5 =2t = &

[Option ID = 349]
2. Both Statement | and Statement Il are incorrect/(A) &tz (R) 3ol =8t & wisgg (R), (A) ) = sy ol &

[Option ID = 350]
3. Statement | is correct but Statement 1l s incorrect/{A) =2t & wery (R) =t = &

[Option ID = 351]
4. Statement | is incorrect but Statement Il is correct/(A) 7t o & wog (R) ot 8

[Option ID = 352]

Correct Answer ;-
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& Both Statement | and Statement Il are correct/{A) iz (R) 3l =8 & &fiz (R), (A) & =& ==y 2

[Option ID = 349]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Federated search was developed to provide simplified access to electronic content that libraries acquire,
Reason R: INFEED supports access to e-resources in university libraries,

In light of the above statements, choose the most appropriate answer from the options given below

ofta & wae Ru s1e 3 : ww afiwpast (A) @ wa A fiBaa 3 af gaw 393w owro (R) & wa # ¢

sifircserar (A) @ Soag ener o R sjaral e gra e snot oy sdadifre weeae o wecliaya afdera gora o © e Ry swer e
wreor (R) : sabls (ang vor uw § £ 3Y) Realencri & sjawcrl # § - dmes @ ufiera B asren wwon 8

IR wUell o5 el 3, ofkl v s1v Revedl 3 A A yagTr 3w w1 a6t Sifsre :

[Question ID = 89][Question Description = 52_q5Nz_PG_LIS_Q89]

Both A and R are correct and R is the correct explanation of A/(A) sz (R) Sl ==t £ iz (R), (A) & =@t swe=n 8 [Option ID = 353]

Both A and R are correct but R is NOT the correct explanation of A/{A) i3 (R) St 38 & uimg (R), (A) & 58 saremy =t € [Option 1D = 354]
A is correct but R is not correct/(A) =rft & uzegg (R) anft =it € [Option ID = 355]

A is not correct but R is correct/(A) =it =i € womg (R) =t & [Option ID = 356]

oW =

Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/{A) afiz (R) 2= 3 € iz (R), (A) &t 7 =o==n & [Option ID = 353]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A Web Portal is a specially designed website that brings information from diverse sources.
Reason R: The majority of public libraries in India are using web portals.

In light of the above statements, choose the most appropriate answer from the options given below
i1 <1 et Ru s 31 v afirseret (A) @ wu ¥ fafiaa 3 Ot gza 35d o (R) S =a & |

afirperer (A) © a9 dida oo e U 31 forfifa aawnse & St fafivesr it 21 I@en wola o 2
D101 (R) : e # aftrsier ardefors sienert a4 UIe &1 R BT 3
JRID el @5 el H, sk U 21e fdoeul 3 31 Ja) SuTs 3T & =:el Hifsy |

[Question ID = 90][Question Description = $2_qSNz_PG_LIS_Q90]
1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) siat adt & sfiz (R), (A) &t 38 woawn

[Opticn ID = 357]
2. Both A and R are correct but R is NOT the correct explanation of A/ (A) 4= (R) 3= 78 & weeg (R), (A) D =8 o ol

[Option ID = 358]
3. Ais correct but R is not correct/{A) a8t & wimg (R) o =8 2

[Option ID = 359]
4, Ais not correct but R is correct/(A) =@t =if 2 womg (R) =24 8

[Option ID = 360]
Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/({A) 3z (R) gl =t & e (R), (A) &1 =& o 8

[Option ID = 357]

Topic:- LIS_SHAAN_NOVZ1B

1)

Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge, A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation, Historicism stresses the role of background knowledge, Pragmatism stresses the role of analysing values and

goals.
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Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting

the a priori of human knowledge, Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

fBreaiferfioa sterior @t afgw Jiv so1 uv RBe =10 gestl @ a3z & @

Rrenar @ sofa & e Moy daeh ware=ng azn Rrswer A Feft ez geore &t srolfonr waemd enflier 1 swrar #leizar gupfer, sneral aiie ser
51 sl 3t gs1 sEvagwi cieffores 3u oreg 2 goa sue Jlvizn @1 #le dAlz uz aeifom 8 aegizar, IFgidorm 21t yd &t yfde uz ga e
3 sBgueprams oo uv ga 2m ¥ s groyf sner &t yfios o3 ga S srasfras geal i 52l & Redaer & e a3 g
eI é

REBIND eftcwivn T e fisie 3 s A & s g 3 shiaot iz ol @ S & st [ #wa sie & graBroar o Bt wsar §
tiicl gepIz @ SiloT 2 - e ATENie o, T2icAs Sl AT giaan anenfyd siol  3car amentyd St o1 a1ef aresd Pl & JIU<s I gui Sirerrdl
I & aearaen s o 31 disl ser d ae ol iRt & 93 d wean Rears smen 2 giioe aneniya sier @t s1el ffdree wrl @ ort & @n
Dl Sl Tael @ A &l Sloierl Fae & Siie Tl A1 Adgfcalisd 8l Addl & Je1e © [ev slgeanied Sie Jdla Jiel, Ulr Al ustiel &
siior A el B e @ wrasiyr dfteter gyawier sl Feen fBsnet of Ko aeca w8 § adifils as gy gd a6 fensr dAvare &
At it 31 a1 E ag A dsnfers @ arfifsars @ ardafere grasem, shidieag Bl A R A selica A I3 &

Which of the following branches of Philosophy studies the nature, origin, and limits of human knowledge?

coloroms i fotgaifelian omaril d 3 iol 3 g Ao sire1 & gepler, Fvuld aiiz el © e ol & ?

[Question ID = 91][Question Description = 52_gSNz_PG_LIS_Q%91]

1. Metaphysics/armfiwiar
[Option ID = 361]

2. Ethics/amenzamsy
[Option ID = 362]

1. Epistemology /= Wit
[Option ID = 363]

4, Logic/mrs
[Option ID = 364]

Correct Answer :-

o Metaphysics/arastnizn
[Option ID = 361]

2) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science, This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance, The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.
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Torraifertiae srenion @Y ufgu afiz sor uz v s1e et & aae difem

ferstar & cofor 3 Siror Aiarien el o= aen fener 2t Hdfia e gor & gielfors waeamd onfiral € sirer Awizn i, Fmersit siiz et
bt FHiermaii 31 S131 sAsvagyt c1efforns 3u o £ Aoy snet i @ AR Al uz aeikoen §; awigipar, Figihimso A gd Bt yBrot uz e Sm
2 shoampmaar Quur uz aa tm 2 sRerrar gy s & yuféer a ao 2 caeiyoag e #z ged o fessaer B yfdve uz aa
Sar e

srasiiyr dfcwior o oo Brorer 3 sarer ander & s Rieg 3 Shaar sty wrd o Swrar 3 st By e ser B qreresar o1 Brafor ween 3
tilel ybIz @ Sid & - ol ANl Fel, TeIedAd siel i gikpar snenfyd siel goa snenis suet o1 el e gedl & #Aues &1 gui aeisrit
TG & AR Hds el @1 sief diEl s 3 70 arey wifts & and 3 Jeen ffrears Taen 2 gftgn smenfya sier o1 aof e @Rt o0 ot & aor
Dl S Tx0l @ Wi &l SiorpRl 3%t 3 Siel Fanied AT Hofcali 8l Amdl 3 JoIed & fere arefcaniyd e Jiel Silel, UlverRl a1 Ustliol ©
i 3 FAa 2 Fie @ cuastise elitcoivl gramicr iz Il st @ kg sera w5 2 Tike a8 Yeamor] Td el ase el &
afsrs yfdvor A 5531 3w A sferr ar aftfSaew @ arksferr graeer, it davdg B ar o ¥ § v soeicy A 93

Which one of the following methods states that knowledge comes primarily from the sensory experience?

forraiferfianT 3f 2t @to1 2l ught sarh 2 e Sre JoenT: S sep@ 3 grd 2t 8 7

[Question ID = 92][Question Description = 52_q5Nz_PG_LIS_Q92]
1. Rationalism/mdgizas [Option (D = 365]

2. Historicism /sFremwms [Option D = 366]

3. Pragmatism/emarms [Option 1D = 367)

4. Empiricism /sRzmamears [Option 1D = 368]

Carrect Answer :-
& Rationalism/oepgigars [Qption D = 365]

3) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science,
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge, A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation, Historicism stresses the role of background knowledge, Pragmatism stresses the role of analysing values and

goals.

Pragmatic view is probably the most relevant to infermation science. This sees living and acting in the world as constituting
the a priori of human knowledge, Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge, Having value-knowledge means knowing what fulfils the criteria of good values, Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information S5cience because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

foramfcilRa sEner @t ufey iz sa uz v =18 gl @ 0= e

e @ sofa 3 smor daien ddelt Foe=nd aen Rsma 3 F&fin s gor 6 geifers wee=md onfira 2 s disnien gepfer, smeml 3 ser
bt Tl 31 331 AETagel colfors Ju o 2 Hra ol A T A iz Uz geliow 3; aogipa, IAgikiaon 3 gd & yfde az aa am
2 shcumymaar Juul Uz aa m 3 sRsriar geoyul o 3 4BeT Uz 9a a1 8 cIasi¥eals el aiz siedl & g 6t yRcor uz
et d

dellsn eftemlvl Fhiam: e s 3 el Ay § ac g 3 siaa iz or ! 2w 2 | [ aea sie &1 Yreldrear o foain oz &
oftor qeore @ se § - geer snenfYa sne, aees s 3 gfdgr snenfa sor wea snenfya s oot aref sred gewll & mags o gof suerost
THE § aearad siel ©f sef fisll @ent i wea ard IR & e 3 wcan Rrar T @ gitcen snenfya sira @ sref fafdree orf o ot & oa
DI ST T6l @ TRID D SilcieIt Tdell 8 ol JTeilyd AT alofeaniyd 8 Aol 8 IoIe30T @ fe1w aropeanisd Siiet 3ol Slol, UideRT AT Ggdiel @
o ¥ FAlEE & SE @ <sllsp tlicaivl graera 3iiv Fomn iemer @ Rida ssra 5 & Tike a6 Qeamor] Td gl sim Jzami &
fsIe fdet 3 9s1 & aig A dsifes @ aiftifens O ardalers Yraser, il cikbedg @l 211 @2 3¢ 8 iz siellca A I3 &

Which of the following is not a reason for the pragmatic view of knowledge of special importance to library and information
science?

ferraferdaa 3 A wior grawicr Az gaan fAsma @ wAder J R Asca @ s ¥g sxasiye efcasior 95 wror oidf 8 ?
[Question ID = 93][Question Description = 52_q5Nz_PG_LIS_Q93]
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| 1. Connected to the societal role of LIS institutions/Srensli & amnfors e A g2 & [Option ID = 369]
2. Public libraries serving democracy and enlightenment /sd=ifores gxameR siawdkg, 30z sEce & Jar &a £ [Option ID = 370]
3. Living and acting in the world as constituting the 'a-priori’ of human knowledge / snem s & Qe @ =1 3 oeE i 1891 iz ©rf wren [Option 1D =
371]
4. Is a representation of reality or a 'Mirror of Nature'/armafdar @1 gfaRifirg o awn ar gl @ gdor. [Option 1D = 372]

Correct Answer :-
# (Connected to the societal role of LIS institutions/szemdi @ smnfa s 32 £ [Option ID = 369

4) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge, A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and

goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge, Having value-knowledge means knowing what fulfils the criteria of good values, Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated., Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance., The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment,

freaiferfiaa srerior @t af$w 3ty so1 uv RBe =10 gestl @ saz 8 @

Rrenar @ wofa # e Moy daeh warg azn Rrower A Fefti stowr geoore &6t srolfonr wasme enfler 8 swrar #lteizar gupfer, wveral aii st
b1 fiaaii 21 Ss1 sevaygwi cieffores 3u oreq 2 goa st sluizn @1 #le dAiz uz aeifon 8; aegigar, Igidiorn 21 yd &t afdier uz |5a e
3 sRouepmar quur g7 oo 2w 3 sRereare groyBr sier B yiiee: o aa Sar ¥ samsifrar gedl iy 32odl 4 Riedvaer @ yRror a7 aw
eI é

REEINED eftcwivn Fvm: e fsie 3 e Jadal & s g 3 siiaot 30z @Rl ot S & st [ #wa sie & grabroar o Heter @ &
tiicl gepIz @ SiToT 2 - e ATENie o, A2icAs Sl T giaan anentyd ol e anenfyd S o1 a1l aresd Pl & JIU<s o1 qui Sirerordl
Il & aeansn s @ 31 disl ser d e ol iRt @ 913 d Jean Reas smen 2 Yo aneniya sier @t srel e wrl @ ort @ @n
Bl Sl Tadel @ D &l Sloierl T3 & S Iwied A1 Agfcalld 8l Addl & Jele © [ew sigeanied sive dla Jel, Ulwr a1 usiel &
siior A it B st @ wramiyr dftcler grawier sl Feen e o Rro seca 18t § adifils as gEensery vd e e dAvare 6
ARG YRR 3 S[31 § a1 A Jonforr a1 afviisrrr w1 ArdSIHRE gapert, S ellkodg Bt A @2 38 & iz siellea 3 53 &

'Knowledge exercised in the performance of some task’ is a

Rt wrl @ FBroucor # sier w1 FuRileT aer & 7

[Question ID = 94][Question Description = 52_qSNz_PG_LIS_Q94]
1. Procedural knowledge/ gfitper Fmedt smar [Option 1D = 373]

2. Factual knowledge/meamers @i [Option ID = 374]

3. Value knowledge/#g= - amenida s [Option 1D = 375]

4, Social knowledge /spntrs smer [Option (D = 376]

Correct Answer :-
e Procedural knowledge/offen izl smer [Option 1D = 373]

5) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science,
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is; Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance, The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.



wWww.prepp.in . repp

Your Personal Exams Guide

foramferfiaa srenor @ ufgu sz zof uz Rw sme geall & Jaz difom ;

ferster & cofor 3 Siror Aiarien el o= aan fene 2t Hdfia e gor & gielfors wamd onfiral € srer Awizn gagfi, Fmersit sfiz et
5t it 31 Srs1 wsvagel sefferes Sa o B ey swer Maien ot AR div oz gefkoeor 3 adfefias, dgicdiora A gd &t yfcor a3 wa Im
2 shoampmaar Quur uz aa tm 2 sReraar gy sira & yuféer i ao 2 caeiyoag el d2 ged o fessaer G yfve uz aa
Sar e

sasiiyr dfRcwior o syaen Brerer 31 saer ander & ws Rieg 3 Shaar sy wrd oY Swrar 3 st By e ser & qrelrsar o1 Brafor ween 3
o1 gepR W et 8 - A aentya Fe, TRewes S 3iT gRpar snenfi sner ipa snenfya et o aref s Jol @ Aacs @t gui sieRorEt
THEIGH & TS Fiel o1 sief dicif ser i 730y ardy wafis & an 3 wean fram s@en 3 gftoen anenfyer S oo aref fafore ort o ort & oo
Dl S Tx0l @ WD &I SiolpRl %16 el Fanied AT Hofcallid 3l AMmdl 3 JoIeav O fere arefcaniyd sie Jisl Silel, Ul a1 Ustliol @&
He 3 HAEa 2 Fie @ cuastise elitcoivl gramer iz I fasie o Riga sera w5 2 Tk a8 Yeamorl Td el [ase dramll &
afsres yfdver A 931 § a A Joferr ar aftfaew @ arksferr graeera, it dadg B Jar o ¥ § iz soeica A 93 §

Which one of the following knowledge types is difficult to transfer to another person ?

Torraifertiae 3 21 fepal yoeIz o1 Siiel @1 Hawul bzl e ouls 3 ofder 2 ?

[Question ID = 95][Question Description = $2_qSNz_PG_LIS_Q95]
1. Articulated knowledge /aeafsr sm= [Option 1D = 377)]

2. Social knowledse/amfsrs ser [Option D = 378]

3. Declarative knowledge/aiaomra 5w [Option ID = 379]

4. Tacit knowledge/#a s [Option (D = 380]

Correct Answer :-
® Articulated knowledge /3=y smat [Option 1D = 377]

Topic:- LIS_SHAAN_NOV21C

1) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research, A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are s5iX steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

foramfeifiaa sy @ ufevu iz s9w anene uz Rw sm el @ I St

Rpeht 3oa o)t eiter A <6 amden & siwdl & Bp widea wefian 3 @) aewayel orl sist @ sro @1 gd seree (JiswElane) oifer 3 as AR sbn
s it wraiférs wavago oiiell uz =t &1 wnigca g o1 Tl asvagyl audsy mifzcl & Iellgicae wxaf 8 A ol fawar o swser 3
asrrw 31 ¥ el wifden & wehten oz Rilaa gorer 3 o aadgoel addy A Rroe o grga wewer § i3 wltsn gfs # o v s 3
tererr o1 aeger, fRaer daeht e &l w1, a® - oo o foere, aiftas adamn, anorasr aen ddllen deaer g seiten giisen # me
gera @igrel @l aaeaaan gxil 8, Te IWD Il ®Y gool aell HMacd I Fdhol el Aodaicl aur sloterrss fafirl @ IR Bol & I DI
SERTYs ol bl g3, w2l Ju=iiell Amlel, MEARIT Tl YFenl @ Tar AT @bl Usdiel 3ol 01 302 YIH Wl WDl 4137, oRb Aligus], Bt
= ), crad den o off onfirer &, & amenz uz et e & anciraen oo &l aan; I wiEe & soadg B saiied T 3 el
aen ot Fyecvaer wadt & gravar; shiz oner o arll o Rfiser sraemeoneil aen wze o WHag awace s aen J Toa ween, Brad sa
£y 3 onier A Fect aen yesyfd &l smereri qiF 8 I

At which stage the "review of literature” is usually a representative of the most "prominent research"?

Rowr oo 3 "wfdca wefian” s waifnr "#eraget eier’ @t gieifed? gkt  ?

[Question ID = 96][Question Description = 52_qS5Nz_PG_LIS_Q9%6]
1. Master's Level/Farmmsrz = [Option 1D = 381]

2. PhD Level/d wa 2t =w [Option ID = 382]

3. Post Doc Level/sm= Siaese w2 [Option 1D = 383

4. Undergraduate Level/gd samrr w1z [Option 1D = 384]

Correct Answer :-
® Master's Level/orwoies == [Option ID = 381]
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2) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research, A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are s5ix steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

foramfeif3aa seny o ufev iz saw anene uz R s el @ o St

Rpaft g =)t giter 31 @1z amgn At sl & By wnizea wefien & o1 aewygel ol Sis1 & srn @ gl Farwe (siseE)Emee) ofter 3 ag amifdi gen
s it wmiférs wavagof oiell uz =t &1 Fnigca Iafigm o1 Tl asvagyl aucsy izl & Iellgicas wxf 8 = el fawa o swse 3
FsrRrw 31 ¥ Rodlt wifden &° wehten 9 Riffaa gover 3 o aadgoel afdy A R o grga wear § mider melisn o f & v s 3
tererr o1 aerer, FRraer daeht e 6l w1, a® - e o foere, aifcas adamn, snorasr aen Fellen g midea seiten giisen # me
QeI @igrel ol Aaeaaar gxil 8, Te IWYD Al ®Y Gool a2l e Bl Fdhol ol Aoalcl aur sloterss fafirl @ IR Bol & I Tl
SERTYr ol bl &iaae, w2 Ju=itell mlel, MEARIT Ul YFenl @ o AT @bl Usdiel T30l 1 308 YIH W0l bl &I, IoRb Aligus], Botd
R ), crad den oo off onfirer &, & amen uz et e & anciraen oo &l gar; I wiée & soadg B saiiad T 3 el
aen ot Riecaer wear ot graarn sz oner # arll o8 RAfScer sraemvonai aen Al o REay aosyoe s waon # Heai ween, BraA sa
£ 3 onier A Fiect aen yesyfd &l snereri giF 8 IR

Which among the following is not a characteristic of "Review of Literature™?

forrafeifiad 3 3 wlal "midra swelten” &1 g o8l & ?

[Question ID = 97][Question Description = $2_q5Nz_PG_LIS_Q97]
1. Statistical Analysis/zifR=rFrr fecao [Option ID = 385]

2. Understanding of the subject/fme & ma= [Option D = 386]

3. In-depth knowledge/#=a smar [Option ID = 387]

4, Arguments based on logic/ms - R smeni¥a gegedt [Option 1D = 388)

Correct Answer ;-
e Statistical Analysis/ai=rbrr Redmer [Option 1D = 385]

3) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review, The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

frrafeRae sterier o) ufgve 3iiz sad nenz gz Re sre gesl a5 saz St

it oo )} oner 3 @ srden &6t sl & By wifdea maften # o waragel o Stz ot s & gd yonaes (3fz3EiEe) ofter A ws i Sen
b w9ft Fraittres Asvaypt enell uz mal @ wiRca el gor it AsTagul sucreer wnfzral &1 wdlencas i 2 W [Kpedl faaa @ aasor d
Hers 2 & foselt mnfeer &1 wften ag fifias yoma 2 < aoigul aflds 3 fwa @ gzga ozar & wifeca wdflen giegm d & apor 26 2
fere <01 aerar, fRraer deeEh IEmen 6l w1, T - s @ oces, aizifae acdevn, anolren aen welisn dwer e seitan gideen # @e
gereh g hl aagaodl gkl 2, T IURD Il DI Ggol A9l HMided DI ol el AoJcl dul disicize RERI © IU=dsT Bial @& B DI
sevgeias weot Ot grman, wenr Iaeeh sndw, siearl aur grawi @ go A &t asret A a2 353 gra weel &t g o mergvsi, Rrora
F AW, dErs aen e oft onfdrar 8, & st ur Kot gia &t andlaer o & amarn;, 3w wifgcr Bt smadg o cafier wu 3 aiker
T2 JoTDl fecav] ool &I S1HAT; iz oner & Uril o faficel sazumasil e A o JHayg dOAcrD Sl Tdoll i Hitd ool, IR 30
£ 3 oner A Foeoet aun geofd &l sterorRt qia 8t IRG

The third step of the literature review process stresses on;
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af3rer wolten ofdsen w1 diazr gvor vy v ga S 3 ?
[Question ID = 98][Question Description = 52_q5Nz_PG_LIS_Q98]

Logical arguments/ae S gl [Option 1D = 389]
Writing /= [Option 1D = 390]

Topic selection/ sfies o1 @t [Option D = 391]
Critique/ ek [Option 1D = 392]

T e

Correct Answer :-
® | pgical arguments/a® 3T gegedt [Option (D = 389]

4) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process; topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

foramfeifiaa senyr @ ufevy i saw anane uz RY sm geEl @ o St

ezt g 3]t onier 2t g amign ol wiwdl 2 ke mice wdfign 3 oF #aerayei o sis1 & sr0 81 gd Farae (3isweguc) oia 3 ae aufsi gen
s w0t wraiférs wavaqgof oiiell uz =t &1 wigca g o1 Tl asvagyl aucesy izl & FRllgicae wal 8 = el favar o swse 3
HERIT ol 3 Tt mnfdca &bt seften ag folaa goa 2 st awvge! adlss 3 ey @t gega wear & wnfdea seiten giten # = csm @ 2 .
tererr o1 aerer, fraer Al e &l s, a® - iae o foere, afgfcas adamn, snolasr aen aelen e midea seiten giisen # me
gerer wiore Ht snaeamar Sidl B, e IR HYdl o) geol aen i3 Wl whar wel Aoarel aur sferenzser Riftral @ ya=ier wee © v ol
ST el Bl g, ae Su=ell Arclal, Aear fde Ydad] & oo e &l Usdiel Dol a9l 368 YIH ©Icl Bl Sl el HAlolevsi, el
= T, crad den oo off onfirer &, & amenz uz et e & anciaen wwor &l s I TiEe & soadg B saiiad T 3 Aol
U1 JoRpl fPaawT weol W1 gierdr; iz oner 3 uril o8 RifSce artmzomall aen Al ®I A WHHCKD JE] Fioll | APOE wel, RRE 33
£ 3 onier A et aen gesyfd &l smereri qiF 8 IR

Which among the following skills is required to synthesize concepts that can provide context and background of the research
problem?

oiter gest @ wooH men geowfi B snererd gra aver © e Bresfd¥aa & A fva oterca &t sravaasan sraenorsil w1 fRedhaer o @ e
Sift 3 ?

[Question ID = 99][Question Description = 52_qSNz_PG_LIS_Q99]
1. Ability to examine and analyse the context/ iy ot e men F3e Rk weet &t aewn [Option 1D = 393]
2. Concept and evidence formulation/ smerzom men s gffmes [Option ID = 394]
3. Potential to search appropriate sources/3wrn I goar @t sFmm [Option ID = 395]
4, Judging a source/Frait zkT it aneaen o= @ gEm [Option 1D = 396])

Correct Answer :-

e Ability to examine and analyse the context/srrlsy i Stiera e 3w Redaor et &t eern [Option 1D = 393]

5) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review, The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forraferf¥ae sterior o) ufgve 3iiz sad nenz gz Re sre gesl a5 saz St
Rpaft awe 2t oifter 31 @w ardsn ot sirel) & R mfdcr meftan o w18 wevagel wrd S1s1 o 9rr & gdf Yenaw (sizeElges) ofe A us Al Sen
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s it wraiftres wevagel oflell uv Taf & w3y Feftsn Jor Bt sragel Joaey midel & whgrens aof & s ool R o Twset #
HerRIn 2k 2 Tpedl i &bt seitsn ag foilfiaa gam 2 o ooyt allds 3 R @ gege o= § mitca wilsn yieen d o cewr 23 £
Tererex 21 TRter, Rrarr Haeh aoren & =i, aud - Rawd wr Boora, aiiRftaw adaror, spaner aen Ttan deer afder waltar gftgn o o
QD DI9IcT Dl ARGl Bl 3, W WD el D ggol Al 3T I Fhol WIel Aogarel Tl siforcnsd RIERI ® Fu=ilsT wiol @ B BI
CerArgda ool Dl e, e Ju=sll srcrEl, AR Tl YIhl & U T Dl Uadlol Dol A2l 3o YIF ol Bl ST, Mold Hlolousl, ford
Tt Hia, Az aon R of enfirer 3, @ snenz o it Fgra B snaraen we Gt graon; 3w wifdca Bt seadyg @ srafaa g A Siaer
8T Solebl faesuvl @¥al ol grerdr; 3 oitel 3 uril 3 fafdee arem=unmal den ARl o JHAg DHCKD 3E Fhell # At e, RRE 33
gxey 3t onter i woosl o geowfdr @B sEreTh g & A

Evaluation of a source for the process of review does not depend on:

Ftan &t gftean e et Jha o geaiowa oorfertiaa 3 2 foea uz fonlz o&f oz 2 ?

[Question ID = 100][Question Description = $2_q5Nz_PG_LIS_Q100]
1. Source/r [Option 1D = 397]

2. Author/orzme [Option ID = 398]

3. Language/smar [Option |D = 399]

4. Subject/fEm= [Option ID = 400]

Carrect Answer :-
#® Source/f3e [Option 1D = 397]

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_l_ota[ Muml::eerLI::ﬂl g0 Total Number |M_’_Ratm
F F

IT 250 1 |1 |240 2
Accounts 123 2 |1 130 3 |2
HR 90 3 12 30 2
Marketing (350 5 |2 [343 5 |2
Production [304 5 3 [351 5 1

TIfeTT BT AMERIe] & 3l 39® oflt Ru s gl D 3z & ;
i €1 o1 eferemt 3 fopadt Fioroor & fafieo fwmell 3f agor wafenf¥=il & Fizeen aan gmw siiz afzar sequra = sk 2

Brafim wadt ifyer snenfya watad
femieT : sG] : ST

R T g e
aird & 250 | 1 | 1 240 | 2] 1
e 123 | 2 | 1 130 | 3| 2
o saeer| 90 | 3 | 2 30 2| 1
Rravrer 350 | 5| 2| 343 |5 2
SemceT 304 |5 3| 351 5| 4

Find out the average number of regular female employees in the organization,

FHorod # Brtim afton o= &bt afan d= sma @8

[Question ID = 1211][Question Description = 52_qSNz_PG_GP16_Q01]
1. 83.20/83.20 [Option ID = 4841]
2. 81.25/81.25 [Option ID = 4842]
3. 78.50/78.50 [Option ID = 4843]
4, 79.40/7%.40 [Option D = 4844]

Correct Answer :-

e §3.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
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Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_mtal Numbe I;au; Total Number |M_|7Ra“;
IT 250 1 |1 240 z2 |1
Accounts 123 2 |1 1130 3 |2
HR 90 3 |12 [30 z |1
Marketing [350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5 |4

mirnT @ ERIa o i su s Re s geai D aae & &
sl &t =18 enforot & Rl sieow < Ridiear Roneil 3 o ol B siw=n aoan ysa 3iie #aitan sequrm 2 sreo

Rrafi wefarft sifrer smenfy wetard

BT HIwAr o R ————
s & 250 |1 | 1] 240 | 2| 1
v 123 | 2 | 1 130 | 3] 2
i sienersr| 90 | 3 | 2 30 2] 1
Rrororst 350 | 5| 2| 343 | 5] 2
Srurce 304 |5 3] 351 |[5] 4

Find out the difference between regular male employees and contractual male employees in the organization,

FioTaol 3 foraldn guu mafanf¥=r afiz Hider ameniya gy oniyar &t iz o Az SR o3 ¢

[Question ID = 1212][Question Description = $2_qSNz_PG_GP16_Q02]
1. 2/2 [Option ID = 4845)
2. 3/3 [Option ID = 4846]
3. 4/4 [Option ID = 4847]
4. 5/5 [Option ID = 4848]

Carrect Answer :-
& 2/7 [Option ID = 4845]

3) Study the given table and answer the gquestions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [contractual Employees
DEhl;mrtnw'.mstmta[ I.'~|uml::ra»rllfffl Ho Total Number Ffi
F F

IT 250 1 |1 240 2
Accounts 123 2 (1 [130 3 |2
HR 90 3 |2 [30 2 |
Marketing |350 [5 |2 [343 5 |2
Production [304 l5 |3 [351 5

st o1 Jeaeet @ 3T 3ud of v sto geat 95 3nE § :
oftar & s enferemr & vl weroa & Riffioor sl 3 wor avstanfr Bt de=n aar gsa iy afdar soamm B s 3

Rrafim wetar®t SifdroT anenfy welar
i el HITAT e Al o1 HICT Agtia

i qy ise] qu @iden
s & 250 | 1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3| 2
onvere sienersr| 90 3| 2 30 2| 1
RrovTe 350 | 5| 2] 343 [ 5] 2
Gl 304 | 53] 351 |5/ 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
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female employees in the production department?

fravrer fasmrer i sifgen okl &1 o dAwn aen sruca ket 3 afgcn sl & @a s @ da oar g & ?

[Question ID = 1213][Question Description = $2_q5Nz_PG_GP16_Q03]
1. 12/13/712/13 [Option 1D = 4849]

2. 1113711713 [Option 1D = 4850]

3. 1211771217 [Option 1D = 4851]

4. 11/15/11/15 [Option ID = 4852]

Correct Answer :-

e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_rota[ l*~|uml::eerLI::fl L Total Number F’m_
F F

IT 250 1 |1 [240 2 |1
Accounts 123 2 (1 130 3 [2
HR 90 3 2 30 z |1
Marketing (350 5 |2 [343 B |2
Production [304 5 [3 [351 5 14

Tt DT 3MERIe] & 3l Jad ol Ru smw gl D 3z & ;
i €1 1% eferamt 3 fopadt Fioroor @ faficor fammell 3f agor wafenf¥=iY &l Fizemn aan gsw sz Afzar seura = sk 2

ferafinT et sifereT anenfya watarst
femieT . ST ) G

R T il
s A 250 | 1 | 1 240 | 2| 1
S 123 | 2 | 1 130 | 3| 2
eI daieer| 90 3| 2 30 2| 1
Rroorer 350 |5 | 2| 343 |5 2
Ut 304 | 5| 3 351 5| 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

FHoraol 3 Fferer amenfya gae wafani¥al & Fiean aen Afder ameniya wizen wafenfral bt Fizeam o5 dky aiae ad ®F

[Question ID = 1214][Question Description = $2_qSNz_PG_GP16_Q04]
1. 298/298 [Option |D = 4853]

2. 295/295 [Option ID = 4854]

3. 3027302 [Option |D = 4855]

4. 307/307 [Option D = 4856]

Correct Answer ;-

e 298/298 [Option ID = 4853]

5) Study the given table and answer the gquestions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments rJRatio I?;’io_
Total Numbe m Total Number
F F
IT 250 1 (1 |240 2 |1
Accounts 123 2 (1 [130 3 [2
HR 90 3 |12 [30 2 |1
Marketing |350 5 |2 |343 5 |2
Production [304 5 [3 [351 5l
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Tt BT AMERIe] & diz Jud o Ru smw gl D 3z & ;
i €t o1¢ emferemt 3 fopatt Fioroor @ faficor fmmell 3f agor wafenf¥=il & Fizeen aan gmw siiz afzar sequra B srm 2

Brafie waadt ifor snenfya watard
femieT : sG] : aEAIGY

Rl T i e
arE & 250 | 1| 1 240 | 2| 1
e 123 | 2 | 1 130 | 3| 2
e seneer| 90 | 3 | 2 30 2| 1
RravTe 350 | 5| 2| 343 |5 2
Tt 304 | 53] 351 |5/ 4

Which department has the highest number of female employees?

Rra fpne & aidon ooty & maiitns d=n € ?

[Question ID = 1215][Question Description = 52_qSNz_PG_GP16_Q05]
1. Production/zrmes [Option |D = 4858]

2. Accounts/d=m [Option ID = 4859]

3. Marketing/Emvm [Option D = 4860

4. [T/a & [Option ID = 4857]

Correct Answer :-

o [T/amk & [Option [D = 4857]

Topic:- GP_24NOV_SHZ_B

1) Which of the following is the highest level of teaching?

foramfel3aa i A oic 311 Fooa T2 o1 oo  ?

[Question ID = 1216][Question Description = $2_qS5Nz_PG_GP16_Q06]
1. Memory/zuie [Option 1D = 4861]

2. Understanding/ater [Option ID = 4862]

3. Reflective/fersl [Option ID = 4863]

4. Thinking/Rimer [Option 1D = 4864]

Correct Answer :-
* Memory/zafk1 [Option ID = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

fepoiidl &t fowafeifiaa 3 2t oia A Ridraams & ?

A, gazml ol Priger 3 ged Fadgar

B. fig seifasniors ultada

C. sara® T 3 giyuad

D. aiféses zfRempior 31 fagem v

E. warpel 798l @ wne sifcfaRrEil oz it eamer Sonn
ofl<l R 317 faaseal 3 At FEl FAT o aal HIfAG :

[Question ID = 1217][Question Description = $2_qSNz_PG_GP16_Q07]

1. Aand B only/@am A diz B [Option ID = 4865]

2. A, Band C only/@am A, B sfiz C [Option D = 4866]
3. A, B and D only/@am A, B 3fiz D [Option D = 4867
4, A, B and E only/@aa A, B sfiz E [Option 1D = 4868]



wWww.prepp.in . repp

Your Personal Exams Guide
Correct Answer ;-
o Aand B only/dsmm A 3z B [Option 1D = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

foramferfiaa 3F 21 @ior 31 APEMH & a2y guri o & 7

A, Fzeoril ot

B. aifirdzon

C. stisigrarar

D. afssk

E. siiftres gitrems

ofld R 1w Rraseal 3 31 78 e o awer S :

[Question ID = 1218][Question Description = $2_qSNz_PG_GP16_Q08]

1. A, Band C only/daz A, B afiz C [Option |D = 4869]
2. B, C and D only/@ae B, C 3z D [Option ID = 4870]
3. C, Dand E only/@ae C, D 4= E [Option ID = 4871]
4. A, B and E only/d@5aa A, B aiiz E [Option 1D = 4872]
Correct Answer ;-
o A, Band C only/@am A, B sfiz C [Option D = 4869]

4) Match List | with List I

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

A, NCERT 1. Post school education

B. IGNOU Il. Undergraduate education
C. CEC 11l. Postgraduate education
0, UGC 1¥. School Education

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

et - | ot -1l
(el @ ez A oo Aafem weer aell dvend ) |(Braor @1 Fa9)

A. ool 3l § iz & ||.2ﬁ§c[-mf§[&1‘[
B. w551 |||.3m1‘fﬁilﬁﬁ3@1&l‘l‘
C.a A 11, semaeras fign
D. g sft =t IV. wzer Rrgn

iy v a1e faseal 3 31 78t 3w gfem
[Question ID = 1219][Question Description = $2_qSNz_PG_GP16_Q09]

1. A-I¥,B-1,C- 1, D -l [Option ID = 4873]
2. A-IV,B-1ll,C-1,D- 1l [Option ID = 4874]
3. A-IV,B-1,C-1l, D- Il [Option ID = 4875]
4. A-IV,B-1I,C-1II, D-I[Option ID = 4876]

Correct Answer ;-

o A-IV,B-1,C-1ll,D- 1l [Option ID = 4873)

5) In a learner-centric approach, a teacher should:

sl - SRa suma # Risrs ot -
[Question ID = 1220][Question Description = $2_qSNz_PG_GP16_Q10]
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clarify concepts by citing examples/saErw (=0 o sqursmsl &1 e o wize [Option (D = 4877]
facilitate student learning /=g & aifdemEr o1 ansiel seren wige [Option ID = 4878]
explain concepts by using adeguate support materials/wiH JEME 0E] O IWEIET @2dF QUL B =rE=n mei wige [Option 1D = 4879]
demonstrate inside the classroom/@an & oz ygda o= [GEmen wige [Option 1D = 4880]

oW

Correct Answer :-
e clarify concepts by citing examples/ 3o [z Sy Sl o 70 oo e [Option |D = 4877

6) Independent verification of a research effort is known as

Rt oiler geRIA a9 Fada ACIITS a2 Wwaenr & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_GP16_Q11]
1. Enquiry/geat [Option 1D = 4881]

2. Probe/smm [Option 1D = 4882)

3. Replication/goerfr [Option |D = 4883]

4, |nvestigation/swemer [Option ID = 4884]

Carrect Answer :-
® Enquiry/ge [Option 1D = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. lIdentified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forsarfer¥re 3 31 wior 3 moeacs ontex B Rrdramd & 7

A. st FFm-IwiT BN &

B. sfifsiertya a3t w1 v Rewr simr 3

C. giaT AebRe i &

D. afe giteet @1 srpr asr 8, d rerdl @1 snst 3 apn=sor R so axoan 3
E. Argal 17 TR W3al i ok &

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1222][Question Description = S2_qSNz_PG_GP16_0Q12]

1. A, Band C only/grm A, B 3fiz C [Option [D = 4885]
2. B, Cand Donly/<mm B, C 3z D [Option 1D = 4886]
3. C, D and E only/s5am C, D & E [Option ID = 4887)
4. A, Cand E only/s5am A, C 3 E [Option ID = 4888]

Carrect Answer :-
® A BandC only/gam A, B 3fiz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel fRw 1w 3 &

wed - | 1 sRer onerpal Brere - ol &t &

wad - || : wenhne sher - se e 3 Riftioo siicicel o siter elerpalll & e av sisaa sudse o 8
IRITG UGl D D #, ikl f&w °1e Kool # A 1381 e @1 w1 i ¢

[Question ID = 1223][Question Description = $2_q5Nz_PG_GP16_Q13]

Both Statement | and Statement |1 are correct/wem | iz || si=i @t & [Option ID = 4889)

Both Statement | and Statement [ are incorrect/wem | A || Sist o & [Option 1D = 4890]

Statement | is correct but Statement Il is incorrect/weEr | = &, g wem |l srmr & [Option ID = 4891]
Statement | is incorrect but Statement [l is correct/wam | #iom &, freg e || 38t £ [Option ID = 4892)

bt B
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Correct Answer ;-

# Both Statement | and Statement [l are correct/weum | 3z || = =@ & [Option ID = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

R 3T SRR & s Rivaasg Redwer © ReaftrRaa gl w 78 o i 3
A. wwfee wt ofysnfdse wyer

B. sfta ofdcel @t e avsan

C. Redaor @&t sord iy gforl @t vivaen & asarer wren

D. visiida sl o wrag wea, Redgor ween Al fBreasd fBroreon

E. giterpaf g oiter oesil mn afyweaensii ar Brafer wran

ofld R 1w Rraseal 3 31 78 e o awer S :

[Question ID = 1224][Question Description = $2_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A[Option ID = 4894]
3. C, D, E, A, B [Option D = 4895]
4. E, A, B, C

, B, C, D [Option ID = 4896]
Correct Answer :-
e A, B, C, D, E [Option ID = 4893]

10) Match List | with List [l

List | lList 1

Ethical concepts ISource

A, Categorical imperatives |I. Aristotle

B. Utilitarianism |II. John Rawl

C. Golden mean |III. Immanuel Kant
D. Theory of justice |IV. John Stuart Mill|

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

et -| et -l
(SHerw arrenzomg) |(3keT)

A. Rl arder I. amag

B. riIPmRRE 1. sifer 3ica

C. wavf amer 1. sdgarer wic
D. wara wr Rigia Iv. sifer scaré B

i 2w s1e faescal 3 31 7él 3= gfome ¢
[Question ID = 1225][Question Description = $2_q5Nz_PG_GP16_Q15]

A-1,B-1l,C-1ll, D- IV [Option ID = 4897]
A-1l, B-1II, C- IV, D-I[Option ID = 4898]
A-NII,B-1v, C-1,D -1l [Option 1D = 4899]
A-1V,B-1,C-Il,D- Il [Option ID = 4900]

N O PE N o Y

Correct Answer ;-
o« A-1,B-Il,C-1l, D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

HAwTasiyr Aquw #, ma SA s T 7
[Question ID = 1226][Question Description = $2_qS5Nz_PG_GP16_Q16]
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Independent/Fadg, [Option 1D = 4301]

Inter-dependent/ozsaz fisis [Option ID = 49302]
Neutral /eezer [Opticn ID = 4203]
Inactive/fftamr [Option ID = 4904]

oW

Correct Answer ;-
* [ndependent/Fadg [Option 1D = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

fergsiferlae 9 A a=n senfes FAquur ©f gl war & ?

A. Ficddl o ulsr

B. sea Risifr

C. Fiwgpfar

D. sitsniftrr smfdufer

E. wciikoan

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 1227][Question Description = 52_qSNz_PG_GP16_Q17]

A, Band C only/@mm A, B 3fiz C [Option [D = 4905]
B, C and D only/zrm B, C 3fiz D [Option ID = 4906]
C, D and E only/d&5am €, D aiix E [Option 1D = 4907)
A, D and E only/dam A, D sz E [Option |D = 4508)

ol B

Carrect Answer :-
® A BandC only/dam A, B afiz C [Option ID = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

i) ot weet B a0 & © wep afdrpera (Assertion A) @ wu # 3iiz T 33 wrwr (Reason R) S wa 4 &
sif¥rperet (A) @ dAquwr 3 il 3ile For el o1 airwr iz qler amea afdaion sen mize

@1zot (R) : ufrgef g @1 ags g swen v amalikhl Fiarenm

IU=ITE Bl  AClkD 3, ol few famedl # 31 718l saz &1 el Hifse |

[Question ID = 1228][Question Description = $2_q5Nz_PG_GP16_Q18]

Both A and R are true and R is the correct explanation of A/({A) iz (R) 2=t =2t £ 4fiz (R), (A) o7t =t =m==n £ [Option 1D = 4909]

Both A and R are true but R is NOT the correct explanation of A/{A) stz (R) iei =t & wemg (R), (A) & =28t snmn @t & [Option 1D = 4910]
Ais true but R is false/(A) =t & wapg (R) =t =dt 2 [Option ID = 4911]

A is false but R is true/(A) =t ot 2 oa=gg (R) =t £ [Option 1D = 4912]

oL B

Correct Answer :-
& Both A and R are true and R is the correct explanation of A/(A) 3z (R) Sl =8 € 3fiz (R), (A) & 3dt === & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

€. Emotional expression

D. Information

Choose the correct answer from the options given below
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3ifdow v da @& o Hquvr el w1 w8 an a3 ?
A. Brige
B. aférzom
C. smara®m afSiRe
D. sSierprét
ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans
[Question ID = 1229][Question Description = $2_qSNz_PG_GP16_Q19]

1. B, C, D, A [Option ID = 4913]
2. D, A, C, B [Option ID = 4914)
3. C, D, B, A [Option ID = 4915]
4. A, B, C, D [Option ID = 4916]

Carrect Answer :-
s B C,D, AOption ID = 4913]

13) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

Rraifeifiaa d A wia A FgE AU D 1201 & ?

A, IRIa

B, a1t anerasél & spungitern

C. @ igar ool 3 Uad F3d dlv # Hiden

D. gem gpna @I 056l A 3w AP agoll

E. s - ura @& g8l @ yfa foaftaa won

oiil 18 =1u famcul # A 1l Iz o1 T DT 2

[Question ID = 1230][Question Description = $2_q5Nz_PG_GP16_Q20]

1. A, Band C only/@== A, B afiz C [Option [D = 4917]
2. B, C and D only/@am B, C 4fiz D [Option ID = 4918]
3. C, Dand Eonly/omm €, D 3z E [Option 1D = 4919]
4, A, Dand E only/<wrm A, D 3fiz E [Option ID = 4920]
Correct Answer :-

o A, BandC only/<mm A, B 3z C [Option D = 4917]

16) What comes next in this sequence?

1,2,2,4,8, 32,7

il o a1e agpps 9 sPrdl A= ola #Hi 260 ?
1, 2, 2,4, 8, 32,7
[Question ID = 1231][Question Description = $2_q5Nz_PG_GP16_Q21]

84/84 [Option ID = 4921]
64/64 [Option ID = 4922]

128/128 [Option ID = 4923]

256/256 [Option ID = 4924]

N N VN S Y

Correct Answer :-
& §4/84 [Option 1D = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

afe A =iftr Byt amre ot 30 Ra i gor Ao &, o salRpwl o5t 33 sxvar @) gonet # ras Re =i, aord B 4 3t ovares o A ol
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[Question ID = 1232][Question Description = $2_qSNz_PG_GP16_Q22]
1. 100 days/100 fa1 [Option ID = 4925]

2. 70 days/70 2= [Option ID = 4926]

3. 30 days/30 2= [Option ID = 4927]

4, 210 days/210 = [Option 1D = 4928]

Correct Answer :-
a 100 days/100 f&= [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

afe fopalt Ferermr uz 20% 6 oz A 3 ad @ foe aggly e Jir ARl = &1 iz 64 w0 8, O a8 Joerel SR o

[Question ID = 1233][Question Description = $2_qSNz_PG_GP16_Q23]
1. Rs 495/ 495 [Option D = 4929]
2. Rs 550/% 550 [Option |D = 4930]
3. Rs 375/% 375 [Option ID = 4931]
4. Rs 500/3 500 [Option ID = 4932]

Carrect Answer :-
# Rs 4955 495 [Option 1D = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement II: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 21E minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

ofter &1 oot Re smg B -
werel - | 1 afe il 3 gt 20 Bioe &1 79w corfdd! 2 oY swrbl s &1 32 5iiz Bioe & g2 & da 25° &1 oot gewm 2

wael - |l @ 4 3fiz 5 @ dka 4 ssroe 21iﬁmmﬂﬁiﬁﬁ%tﬁ§€ﬁvﬁmﬁ$mﬁmﬂﬁlﬁsﬂ
11

I3 wuell aF srale 3, of Ry so faweal # A wft saz o waa G
[Question ID = 1234][Question Description = $2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement |l are true/me@ | iz |l gl I & [Option |D = 4933]

2. Both 5tatement | and Statement |l are false/mwem | 37 || 3w s & [Option |0 = 4934]

3. Statement | is true but Statement Il is false/maw | w7 &, foog wamt laeeg @ [Option 1D = 4935]
4. Statement | is false but Statement Il is true/mem | o1 77a &, Frog wea || = & [Option 1D = 4936]

Correct Answer :-
e Both Statement | and Statement |l are true/wem | #iz || S I= £ [Option D = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2,
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

frraftl¥a wasi az far Hife .

A. aft Roeh aeg o oy wea 56 wad 3 ahiv 3w uv 20% o Biar 3, A sa avg o Rapy gea 76.2 sad 3
B. aft et awg o aya gow 80 wad § iy A Ja6i uz 15% sifer Bt 3, o s awg o Raga goa 68 50a 3
C. afe ool arg o1 5 s 3# wmioo: 6 Hod F dar sier 3 & 3@ oz 25% o S 3

dmw A A Sl / Avaa a3/ 37

[Question ID = 1235][Question Description = 52_qSNz_PG_GP16_Q25]

1. Conly/dae C [Option [D = 4937]
2. Bonly/adaea B [Option ID = 4938]
3. Band C only/@ae B 4z C [Option 1D = 4939]
4. A and B only/aaa A sfiz B [Option 1D = 4940]

Correct Answer :-
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o Conly/@er C [Option 1D = 4937]

21) Match List | with List Il

List | lList 1
A. Vyapti |I. An immediate valid cognition of reality due to some kind of sense-object contact
B. Anumana |II. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark
D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

et -1 Bt 3 -1l A @R iR

-l et -l

A : [I. faft g a9 shoganel nfsarad @ weor aened o1 arme o
- +

B [Il, <hisit 6 T &5 Amens O3 Sl o IFIa

3o Hlol

C. graat |l Rl didva o Ris @ qd star @ anenv o3 feed awg o @6
D. o |Iv.wéaguﬁaﬁimauﬁﬁﬂamﬁﬂﬁmm
a1k o oo Repedl & 3 318l 302 gione :

[Question ID = 1236][Question Description = 52_qSNz_PG_GP16_Q26]

1, A-1,B- 1V, C-1ll,D- 1l [Option ID = 4941)
2. A-1l,B-1ll, C-1, D- IV [Option ID = 4942]
3. A-NLB-1I,C-1,D- IV [Option ID = 4943]
4. A-IV,B-1ll, C-1,D -l [Option ID = 4944]

Carrect Answer :-
o A-|,B-I¥,C-Ill,D- Il [Option 1D = 4941]

22) Match List | with List Il

List | List Il

A, Sannidhil, Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll. Expectancy between the words different in a sentences

C. Yogyata |lll. Propinquity between the different words in a sentence

D. Akanksa|l¥. Meaning intended by the sentence

Choose the correct answer from the options given below:

et -1 Bt et -1l 3 g Hif

e | =i -l

A. afoatts || araa 3 Fiacee sl &l ulRwul® FuTpal Az dAewIal
B. arcexf Il arrer # 9redi @ dir greamen

C. siwrn  [II1, averT 3 fafivset ot @ dier Tmfte

D. amwizn  ||V. arr g afim aref
i 2w s1e faescal 3 31 7&l 3= gfore .

[Question ID = 1237][Question Description = $2_qSNz_PG_GP16_Q27]

A-11,B-1,C-ll, D- IV [Option ID = 4945]
A-1V,B-1I,C-lll, D - [Option ID = 4946]
A-1,B-1,C-1V¥,D- Il [Option 1D = 4947]
A-NII,B-1V, C-1,D -l [Option 1D = 4948]

N PE R o Y

Correct Answer ;-
o A-I,B-1,C-1ll, D- IV [Option ID = 4945]

23) Mame the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.”

Choose the correct answer from the options given below

Sl 2w 310 Ao # wicl AT o ol & 7
90t B¥ey SHoraT OIer Sy §
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¥ Yforslel arag sieas st §
saftre o gnslsl wia sieas aisl §
[Question ID = 1238][Question Description = 52_qSNz_PG_GP16_Q28]

Undistributed Middle /ar=ars &7 [Option ID = 4949]

Affirmative conclusion from Megative Premises /sesmrses s qerl 3 aeprcwes fowesd [Option 1D = 4950]
Exclusive fallacy/smesies o g [Option 1D = 4951]

Existential fallacy/aRBamauss o Sm [Option D = 4952]

o e =

Correct Answer :-

s Undistributed Middle/seam &g [Option 1D = 4949]

24) Consider "A’ proposition as 'True' and 'False’ respectively, in a square of the opposition of propositions, then which one
of the following is correct?

Ao aradl @ faadla @of d 'A’ a9 aad @1 ook FJA A1 'srer A6l [eeaielian # 21 ool 1 Il G & ?

[Question ID = 1239][Question Description = $2_q5Nz_PG_GP16_Q29]
1. '0is True and T is False/'0' gt € 4 ' sewr & [Option ID = 4953]

2. 'E'is Undetermined and 'Q’ is False/'E' afdraita & afiz 'O =i/ & [Option 1D = 4954]
3. 'O is Undetermined and 'l is False/'0' arféraifsa 2 iz I =i/ & [Option 1D = 4955]

4. T1is True and 'E' is False/I' &t 23z 'E' swm & [Option ID = 4956]

Correct Answer ;-

¢ '0'isTrue and I is False/'0' = 24z I'=smm & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forraifertian 3f 2t fopwr ST Qreu @ 3299 - fadRr Fd & zfte 3 awg @ oI [afae ol &t aear & 7

[Question ID = 1240][Question Description = $2_qSNz_PG_GP16_Q30]

Nirvikalpaka Pratyaksha/fidmerre geaa [Option 1D = 4957]
Savikalpaka Fratyaksha/afeur geas [Option 1D = 4958]
Samanylaksana/ammeaemn [Option 1D = 4959]
Yogaja/=ers [Option 1D = 4960]

T

Correct Answer :-
® Nirvikalpaka Pratyaksha/@ifmer w=e [Option 1D = 4957

26) A spreadsheet is

Fisofic & -

[Question ID = 1241][Question Description = $2_q5Nz_PG_GP16_Q31]
One-dimensional table or grid/wow - Rl roifwe =r B [Option 1D = 4961]
Two-dimensional table or grid/fg - fnfl afeeer & Bz [Option 1D = 4962 ]
Three-dimensional table or grid/fy - fpfta aféee ar B [Option 1D = 4963]
Four-dimensicnal table or grid/=xe - el aferer @ Bz [Option ID = 4964]

a2

Correct Answer :-
& One-dimensional table or grid/oe - Fele mfewe =@ B [Option 1D = 49461]

27) In electronic banking, ATM stands for
solraciiord dfdper & Hader 3 © & o o I oA @@ 8 ?

[Question ID = 1242][Question Description = $2_q5Nz_PG_GP16_Q32]
1. Automated Transfer Money/dEEEs Tiaws a=it

[Option ID = 4965]
2. Automated Teller Machine/slicires 2oz @ie

[Option ID = 4966]
3. Automatic Transfer Machine /JiE3R® ciaws agfle

[Option ID = 4967]
4, Automatic Transfer Mode /SRR gow: s

[Option ID = 4968]

Carrect Answer :-
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# Automated Transfer Money/dieHes eisme A=t

[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

Irdia eIl &I geren H Audiu waged O foretferf¥aa I 3 Siar 3l v ot 3 7

[Question ID = 1243][Question Description = $2_qSNz_PG_GP16_Q33]
1. It has no trailing wires/sxd wi rm B ot =1 & [Option D = 4969]
2. It has lower power consumption /=t Rt <5t zmer wu akdt £ [Option 1D = 4970]
3. It is lightweight and self-contained/zam gormr o 2ir 2 iz =z Fam: iz & [Option (D = 4971]
4. It is easier to break or steal/s3 dresr @n gaen A gn & [Option (D = 4972]

Carrect Answer :-
# |t has no trailing wires/sadl = A e a2t T & [Option (D = 4969]

29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

ferrafer¥a wos aF e az frae $Hifsne :

A. orar el 31 opeer Famd) oo 3ueT R sir &

B. Sic ailtaw 3z sovoic Mcd & Rrafla s Rgd # svmds darr o [ =8 o soies a8l e sien 3
C. dorz Rl 3 ffre Brae e & Rroraan/sor w1 gater stan 3

D. drsrz ez are 4 siision Siw sz o1y @ PYew o1 Iraool I §

Fufre 9 A oior a1 / A woua At ¥ 7?

[Question ID = 1244][Question Description = $2_qSNz_PG_GP16_Q34]

1. A, B and D only/sam A, B 3fiz D [Option D = 4973]
2. A, Cand D only/@aer A, C 3w D [Option ID = 4974]
3. B, C and D only/&am B, C 3fiz D [Option ID = 4975]
4. Aand C only/@we A &tz € [Option ID = 4976]

Correct Answer :-
o A B and D onlyf@am A, B sfiz D [Option 1D = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement |I: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

ofld §t weast Rusre 3 ¢

werd - | 1 3t 3r v oa & s gifinee afiz deanlyg (Buler) alfafem & &
were - || ¢ 1 ame v oa ©! oenaR T0B g1t O Imaesrnar aidl 3

IRTE Ul @D D A, skl e e Rrasedl d A 718 o @1 ags Hib
[Question ID = 1245][Question Description = 52_qSNz_PG_GP16_0Q35]

1. Both Statement | and Statement Il are true/wem | diz |l s ava & [Option (D = 4977]

2. Both Statement | and Statement |l are false/sem | 313 || Sl ame & [Option (D = 4978]

3. Statement | is true but Statement Il is false/=em | 30w  , oo e || smea  [Option 1D = 4979]
4. Statement | is false but Statement Il is true/=eum | oo & , freg ooa || I & [Option 1D = 4980]

Correct Answer :-

# Both Statement | and Statement || are true/orem | 4z || dmf =1 & [Option D = 4977

31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?
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aiifer smeDlsr & eadlsht gawie (2019 - 20) @ sy, oadish - 5 (fiffre weemn) gra o # Beaftfaa 3 3 Rea asa o ggeler wdd)ss
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[Question ID = 1246][Question Description = $2_qg5Nz_PG_GP16_Q36]
1. Kerala/3we [Option 1D = 4981]

2. Himachal Pradesh/fgamre ggor [Option 1D = 4982]

3. Sikkim /B [Option ID = 4983]

4, Goa/f=imn [Option ID = 4984]

Correct Answer :-
® Kerala/@sw [Option 1D = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

difoczrer Qidiasiar 3 &t o1 ufyeucn & ol UrdsToll fafeszur 3 Hzgior forgorferliae 3F 2t fopar war 31 Sit 31 o7t AwicTor Daem 2 7

[Question ID = 1247][Question Description = $2_q5Nz_PG_GP16_Q37]
1. SDGS 3, 11, 14, 15/saft st 2, 11, 14, 15 [Option ID = 4985]

2. SDGs 10, 16, 17/ & 50t 10, 16, 17 [Option 1D = 4986]

3. SDGs 4, 5, 11, 17/ma €5t 4, 5, 11, 17 [Option ID = 4987]

4. SDGs 8, 10, 12/l 8, 10, 12 [Option ID = 4988]

Carrect Answer :-
& SDGS 3, 11, 14, 15/ea gt alt 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fora # fyord Bt 8 39l genferl & 31 swea & cepET Roosht geniern 27

[Question ID = 1248][Question Description = 52_qSNz_PG_GP16_Q38]
1. 7-8%/7-8% [Option ID = 4989]

2. 10-12%/10-12% [Option ID = 4930]

3. 15-18%/15-18% [Option ID = 49%1]

4, 20-25%/20-25% [Option ID = 4992)]

Correct Answer :-

o 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand {(BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

AaeIrRIler® Aiadiere #iel (4l o 31) & Ade #, olil2m aldg@ Bl Aemrercia Wil o d Sisa @ o unwik Jee o< 8 ?

[Question ID = 1249][Question Description = $2_qgSNz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 fwy./ &t

[Option ID = 4993]
2, 6.0 mg/L/6.0 Brg/ ot

[Option ID = 4994]
3. 15.0 mg/L/15.0 fep/ <.

[Option ID = 4595]
4, 30.0 mg/L/30.0 e/ i

[Option ID = 4996]

& 5.0 mg/L/5.0 fep/ ot
[Option ID = 4593)

35) Which type of power plants uses the least land per unit of GWh energy production?

fera gqoor @ fagga s giv so1s sienarc der (S0 socq va) Sef sruca @ i 1l s Yfen o IURieT B & ?

[Question ID = 1250][Question Description = $2_q5Nz_PG_GP16_Q40]
1. Wind/uga [Option ID = 4997]

2. Coal/@ren [Option ID = 4998]

3. Solar/3fz [Option 1D = 4999]

4. Geothermal/samd [Option |D = 5000]

Correct Answer :-

® Wind/mwmm [Option ID = 4997]
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36) Which of the following are the major recommendations of the NEP-2020 related to higher education?

A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education
D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

wor £ ot - 2020 3 Fza foren @ wde A foaeferl¥ag 3 2 oior Al gz el 2 7
A, Sfifanz &1 26.3% 31 aermz 2035 aw 50% oIon

B, foreq - i forafdemert & Fomaen

C. gz Rrgn @ e vwd fafermas o131 "gomt iog @ (aise 9 «13e)’ Rforrmer
D. farstrer sz Qe 3 oiver @Y agrar o

E. 1500 afiz feafenas =een

oiter faw a1 faaseal 3 3t 7él one @1 aaa B @

[Question ID = 1251][Question Description = S2_qSNz_PG_GP16_Q41]

1. Aand B only/@am A iz B [Option ID = 5001]
2. Aand C only/@aa A dite C [Option ID = 5002]
3. Band D only/@aa B &tz D [Option ID = 5003]
4, D and E only/o5ae D #fiz E [Option 1D = 5004]

Correct Answer :-
o A and B only/@ae A & B [Option ID = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

i) 51 o Bw sme & : v afdrpera (Assertion A) @5 3 9 3iiz o1 33 wrw (Reason R) v wa 4 .

sifirpera (A) : Bz gunedt & cxficiaer &6t siet @1 tma & T gu koo - snenfya @ Regened (3 &t 3 o) o sraern § s ory smaet
frseRt iz Sgedl & agaR aaz - Feas, srrfaass iz Stera smenfyT ugaadl o a9 3 AD

@120l (R) sz 3 arfrosier Jeer o1t Fzeme sics am gferond arenfa Feaicel Yuiell @1 sourcrel @3 Tl 8 ; el orjl o ausil usic & faut
{ FFemaii @ i Jorchl siferoiterar 3 oriiciust A arem anedl &

IRRG W] & IcRe #, skl Ry eodl # 3 38t 3z @1 o= St

[Question ID = 1252][Question Description = 52_qSNz_PG_GP16_0Q42]

1. Both A and R are correct and R is the correct explanation of Af(A) siiz (R) si=f = & &fiz (R), (A) &t =8t wmom=n & [Option 1D = 5005]

2. Both A and R are correct but R is NOT the correct explanation of A/{A) 3z (R) di=t =@ & qoeg (R), (A) & =@ sy =2 2 [Option 1D = 5006]
3. Adis correct but R is not correct/(A) 3t & uieg (R) 38 s £ [Option 1D = 5007)

4. Ais not correct but R is correct/{A) 5t =& & wisg (R) 38 2 [Option ID = 5008]

Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/{A) afiz (R) =i = & afiz (R), (A) &t = =r==n & [Option ID = 5005]

38) Malanda was established in
sircicl @b Femaetlr a5y &% ot ?

[Question ID = 1253][Question Description = 52_qSNz_PG_GP16_Q43]
1. 2" century/gz# st [Option ID = 5009]

2. 37 century/titert srmredt [Option 1D = 5010]

3, 4th century/<ifeft et [Option D = 5011]

4, 5t century/aierdt ermeet [Option 1D = 5012]

Correct Answer :-
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e 2" contury/zalt sl [Option 1D = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Feel 131811 3 Hhd alAicdel Aolure (Sl £ anz) &l zfee A forraferi¥aa wrset o a3l o 3 33 ;
A, aridrcong

B, @@

C. FaarEms

D. Biwa

E. fBamae ggor

il R 1w Rroseal 3 3 78w o awer S :

[Question ID = 1254][Question Description = $2_qSNz_PG_GP16_Q44]

A, B, D, E, C [Option ID = 5013]
B, A, D, C, E [Option ID = 5014]
B, D, E, A, C [Option ID = 5015]
D, A, E, C, B [Option ID = 5016]

oW R

Correct Answer :-
e A, B, D, E, C [Option ID = 5013]

40) 'Deemed to be University is established by

‘Hrs Rreaferea’ Hf wuroen Bsad s B e & ?

[Question ID = 1255][Question Description = $2_qSNz_PG_GP16_Q45]

1. An act of the Parliament/sas o affifsre g [Option 1D = 5017)

2. An act of the state legislative assembly/ s Riama = 8 afffemer g [Option 1D = 5018)

3. A notification of the Central Government on advice of the UGC /gt &1 @ong uz deg wwor & aiftemen g [Option 1D = 5019]
4. A notification of the UGC on the advice of the State Government /s Iz & Iong uz 503, &6 arféegren grr [Option (D = 5020]

Carrect Answer :-
# An act of the Parliament /=g & st gr [Option 1D = 5017]

Topic:- GP_24NOV_SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll, Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating, Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.
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forraiferfian srerior &1 taneigds U afiz grall @ 3z &

WMAHS 9 DI Iz e &g & IsHEIRI & Aere] 3 30l 2 by Marde 9N tonkl Jrdd AP @ U grEiee 3 sust ydas
3T 3 w9 A DA I8 AL TR & R ama el FIsphiil © A firke wmer @3 i Riguyo! =msr o o w1l geiidl aa squso ot & s|
wamtEil o) et sraen o yegibia wen usar E Jafs a o cadl siaen #izyA o R e I el uasrsas el oeakd # 4k ag
Farrea @ e sifiore 8 aod 3 aor, anern siz Ja &t g soaen A siad: sioeica erpie 3l § Al safts snasicww B9 A oo S 3
WIdelcdiD eIl Jistoas® st & e 2, Brar sod (05 smaeras Rz Riom & aarT siaeinil 3 A2 2t 8 gurdl ort
forourgor @ s yopa Tes D BU # WAGIHD 951 3 Mol &l grifisal o JaE ST 1 WiMeloids 91 dafanfe o fore gfaen Ieuoet
WA & ATRET B il @ e B Wl USdl & g g feerpa uvic okl w3l & 8l 3ol &, HIU JoRD wIvbed w1 araEdd] s &1 3t
A®GAT 2 6 ama I S 8 795 3ogier sad s Y anud an 3 areRcas and @Al & T3d amagg, AUl Asenz &t I ! so el
arer forfdrer amens uv i ool asft 3 saftre snawt ddbna o Rarar @zan asan 3 RAdrawe, afS smra sirensil o) siasa srorensii an
yotdia straensil 3 scEr-3ceT T A Al 3 ADI Ausl Asenz # AR B aedt 1 argya saens cafts o arafae sraons 8t
s frafta, gefdfa saes A At ¥ Biod B distoor Rt orf fad & fore asfarfl zr gelia Ree sme) Bt siden zear 2 aits Jok s
Aol & 4 Aafiida wrasi w1l siell 3 ; a il o sraeid Skl § 331 g sa A 3 affrster et st 2 /e s Rl salip @ sift
Hdror # g yehifa e &t arden &6 @it 2, st & 201 339 cafes &t g Bt o gifd At a1 o At Ao ond-waRIE 3 3o e &t
3rdar &t soefl B, o8 & s gcoren WA ¥ wr & ¥ oiter A coid B 5 wrl yadl uv as aden & siedl B 5 a9 mreaa: gersoran Ay
ICHIE S ADRIHD Kl DI geldia weon midv aem s, e, Sl Al IaAms A2 oIbRIcAT Al Bl ol o ailde

The basic principle of emotional labour management is:

HIIOIT A<D 9 gt i goriet Rigia 8 :

[Question ID = 1256][Question Description = 52_qSNz_PG_GP16_Q46]
1. Be less hostile to other employees/ s kbl @& qft oo figm & [Option 1D = 5021]
2. Entertain only limited interaction within the organization/Zemom o vz oSaer diies sFnfimr assen [Option (D = 5022]
3. Be polite to co-workers/agwik @ ufft Remy 35an [Option 1D = 5023]
4. Do not show your frustrations/ swmelt et wt gafdfa =1 wen [Option ID = 5024]

Correct Answer ;-
e Be less hostile to other employees/ srr gshnfeil @8 gt w1 Rigw zzmam [Option 1D = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another, This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out, Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emeotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

formteiian amerior @I Ayl ug iz gl @& a2 &

WARHE 9JF I IMLIIT al 8] @ ILoIRl @ RRel A A & Roog sarda® 9 oPRPT YRb 66N o 0 gQEilbne & el Yyaias
AT 3 A 2 DA T8 AVET 7T 2 5 ama arger HemhiRil & Arer Rise =aar o1 iz Agugul omaer o o #wd gelidl aa 3case 2l & aa
il o Redt siraen @ ygiia ween s 3 aafis @ @ oxdl sk AR o2 @ e € us el wmarers Reisii weaktt § iz 9
Farrea @ fere sifiers & aodt 2 @ot, D1 air A9 Dl g w™en A ik WIkAD obTa il 2 iz cafts dideled® U 3 ¢ ST 8
ety Rdeder demencaw Ridsifer o5 Jare 8, Brarr s3 5 sasneas Rt Riaor @ gsirn sieereil A A46ftsa sl 3 gl ot
forues & uos Y@ ao @ B4 J HAARAS 9 # aaanaiil B qrirear o Jesn A | Welas 9 St @ e gfiven sruea
DHNE  AUD! TH ARl &5 A1 © Tl Usdl 2 ied s o uzic ol @3 8 8 Wodl 8, aa Jord> sftoed ©f auad! A 8F - 8l
e & Rp s ug s g 7 3esial anaed dic D 3o aR d oioRKkenn and Wit 3 s AIaslg, Aa AP BF IiRe smunt ot el ©
A1 forafdnT anenz uz 3o ol usdt 2 zaféde smuet dicjira o1 Raamar oon asar 2 fagiadms, afe g Hrasiaif o) el Hideriall a1
gefola siraersil 3 sreer-sremt o J a6 F3 gl raal JAerene # Ferar B aodl B swepia sirend wafts B analies siaend st 3
sum faulla, gehia waend a gt 2 Ricd o1 Fietod [0l orl g & o ol g1 yghia fee smer & arism wmaen 2 iz 3o sffm
At & 4 siafeida uraane st g1t ¥ ; q el o1 e Bkl ¥ w2l goone s A A afreior aier s E Ry saa Rl safte @ sife
FEpR 3 gw Yo wea & arzn G el §, wd & a0 3a cafte O ey o) v 2R Ael @ of AEl aen ane-aaRiE # Yo Bwa &
e bt sl 3, el & B Yool HEH DI AL of DY 9l Az golfid 2 fis orf Terdl uz w1z et &f sindl 2 s g FaTeaT: Yool 3T
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Ieas S AR il o gofdla wen wifde aer v, w@ier, s i e SiA siprcad snal ot ofia avsenr e

Within an organization, emotional dissonance affects
Rpaft Fsroa # sraencsrr Rvsfer Rl gufya ot 8 7

[Question ID = 1257][Question Description = $2_qSNz_PG_GP16_Q47]
1. Cognitive consonance/ssmamwenr amzaen [Option 1D = 5025]

2. Effective job performance/gsrft wrt Brama [Option 1D = 5026]

3. Solutions to labour issues/gm #Et =1 IR [Option ID = 5027]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs, But emotional labour is relevant to almost every job,
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

ferraferfiaa srexior o saregdo ud iz gl @ Iz §

HIACHD 95 Bt araenzorr Aan S D Ao @ yeeer A ull § Rveg sacAT o eEpET Qrdo AseiR & forw grafics 3 smawr geercs
MTa 3 B A A AE AULT TEWI & [ ama suel el & A B waer ®8 it Riguynt <aer o o a=dl gelidl aa scuso 2idt € s
@afenfrl @t fopeft siaen o1 gehfa oron usar & safes a S1E gadl aaon #EgA o 1 A0 3 A faseilr waenenes farisii weardt 2 Jiz as
TR @ T siforores gt ol 3 @or, @ler 3z 3w &t ava sraen A T HIGEIIRD ¢RETA Bl § 3z sals MR Fu A o IR 3
Widelcas i sismencas s & e 2, Bram o foh snaenass sl Rivor &5 oo siraeid 3t 4t 2t 8 qurdt ort
feroocer @F oo g gor O Fa H HkeneHe 9 # wraronsil Bt grEPrrar o1 Fws S 3 HRkenraw o weknfil & e gfen sraser
I & ATUh] B cliall @ FATel B el USdl 2 oled 3nu [derpa ueic ol ol & 2l 3<hel 8, MU Jokb oiftbrd o 3uadf dAerd 81 &l
Fwen 3 By ana 4 srea 8t By sosier sy dic Y snad i 3 oreoraeae wid oft ¥ sad aragg, od Asenz 6 il snawt se e ©
A1 forfd stz uz si:fien @welt aslt 8 swftie amusst Frjtar @1 owmar o usar @ Ridmrns, Aie ama wraoisi @l sy st an
g sraoIrsil 3 sIcreT-31creT T W dl FHA AUDY AUel AP H Jerr fiel 7edl 2 s daan wafo 6 aralds sraerd kil
sad RBrafta, goldia sraand § 8kt 3 Bred o1 doroa el o Ridg @ e wefafe srer gofifa Ree soar € srdan ysran 8 3iie 363 s
AH & 4 sicioliza wiaend «idl 2iedl 3 ; q il 518 saed 2kl 2 320 yore za & 21 af2roion ol sieaq & ko sael Readl calts © sifca
Frwr # gw gefdia weet & sden &t sl 3, 3@ & 50 g7 wfs 6 gog o) ow sty wet ar o sk asn end-wAaEs 3 gaca R 6
e @t SIRdt 8, wcl & & Yookl S WS AT of e 9ilel g gorla & Br wrl Fadl uv ug siian @i siwdt & R 53 st gRicoe 3R
3CHIE S ADRHS Wl Bl yelia smron anfde aem wa, @, sl afiz aadirer S oibReane Al D cfivT oo mifze

In a workplace environment, labour managers should give preference to:

ORI Fere I arrev # 9ff Jdirm! ol foraiiifiana 3 3 Rl grafirear ¢l mize ?

[Question ID = 1258][Question Description = $2_q5Nz_PG_GP16_Q48]
1. Displayed emotions/qgiia smensii &1 [Option 1D = 5029]

2. Felt emotions/ st smaeal @1 [Option 1D = 5030]

3. Negative emotions/@ERKere sudasd o [Option ID = 5031]

4. Expressions of frustrations/mormsil £ atérsale o1 [Option 1D = 5032]

Correct Answer :-
e Displayed emotions/ gtk srammail @t [Option ID = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
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Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_mtal Numbe I;au; Total Number |M_|7Ra“;
IT 250 1 |1 240 z2 |1
Accounts 123 2 |1 1130 3 |2
HR 90 3 |12 [30 z |1
Marketing [350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5 |4

Rraftifiaa s ot tamgede ug sfiz geal © 3 §

WD 9 i AREIRVIT I 25 <& USEIR] W HERIel A 338 & Roog sIaraes 9P oPnEl g A6rR o e grilfer @ amusa geatrs
AT 3 A 2 DA T8 AAET TdT 2 5 ama ager Hemhifil & Arer Rise =aanr o1 iz Agugu omaer o o #wd gelidl aa 3case axdl & aa
avafenfyall @t fpeht siraen @t gofdia weon usar § wafds & o1 call swaar asgA @ B A0 3 as el umenraw Reieker weened 3 30z o
Farzea @ foe siforene 81 wodl @ @01, @i i 3w & oz aaen A AT HIAEcHT KBTI gl E i cafts aaerae BU A g AR §
ey Rirsier dsmeneaw Rresier @ aune 2, Brarr sao @ swrasrcns fRiasaf Riaor & aarn siraemsl 31 Aaffea 8l 3 gurdht ort
Rrures @ v yg ac @ FU d A 9 # Aaeinii B grRirear o JeE S 8 ReInaRs 9 il @ fore giten sruea
DHNE  AUD TH ARl o5 W D TNl Usdl 2 [oied s foraga uzic ol @3 & 8 Jodl &, aa Jora> sdftoed ©f auad! A 8 8
Fwen 3 By ana 4 sraa 8t By sosiar s dic Y anod i 3 orvracwe wid oft ¥ sad aragg, od Asenz B il snawt se e ©
A1 Toridie anenz Uz sid:idoen weoll usdl 2 swifere anuss! dAdisna o1 fewamr o usar & [vedsz, afe sa warasnsil o1 Mopfed HIasisil Aar
gofdia siraersit 3 sweet-3roet o w1 Al 399 saat saa Asenr # asram B aodt B sepm saend wale & aralie sramd xdt ¥
s foadia, geldia soaend 4 gl & Bied ©IE Fie1o6 [l orl gy @ i welall o gshia Ree smer & arign s 2 il 368 aftm
HloTell 2 o sfatcliger waond gl 2kt & ; o M=t o1 vraend 2kl 2 =il ootz & 3 31 sifrasier &l Sieral 2 b e fopelt cafep @ aifear
FFpR 3 g Yoibia wwa & amzn G et §, wd & a0 3 cafte O ey ) v g Al W@ o AEl aen anS-aaRiE # Yo Baa &
e bl wIRdt 2, sict 8 & Yool A& @ Al A e 9iiel Ag golld 2 o Rl Ferdl uz e aman &l sl 2 e zd seea: Yool Atz
Ieans S Awens il ot gofdia wen wifde aer we, wier, s i saene SiA sipead snal ot ol avsenr e

Which of the following feelings one should feign at a workplace?
A, Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

ol rera uz fpedl cafts o owafaliaa 3 3 oia H smaomsil o1 Kamar wen mize ?
A, s

B. scae

C. gt

D. gaveran

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 1259][Question Description = $2_qSNz_PG_GP16_Q49]

A and B only/<e A oz B [Option ID = 5033]

B and C only/@9e B iz C [Option 1D = 5034]
C and D only/a@sae C sz D [Option D = 5035]
B and D only/@sae B &z D [Option 1D = 5036]
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Correct Answer ;-
o Aand B only/dsmm A &z B [Option 1D = 5033]

5) According to the passage, effective emotional labour management involves :

feriel @ AelAT, YTl WGl 91 Ydtiel d oo afdatera 2 8 ?

[Question ID = 1260][Question Description = $2_qSNz_PG_GP16_Q50]

1. Acceptance of emotional dissonance/siaenras Memf &1 wiweriar [Option 1D = 5037 ]

2. Free expression of feelings of frustration /o &1 srasnail 61 #7F afeafs [Option |D = 5038]
3. Display of friendly emotions/ iyl siraenait @1 ggefer [Option (D = 5039]

4. Sidetracking the learned emotions/3iwi s& smaen:it @1 urd 3 Z@en [Option D = 5040]
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Correct Answer :-
e Acceptance of emotional dissonance/ nremrao R 95 =dtwrfa [Option ID = 5037]



